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wrgHfl elemgmnetr 1/ Model question paper |
Gusoiensy @rewimb Qe / Higher Secondary Second Year
Beughulwsd - Chemistry
(suiidsotb oo HUOD / English & T
s1o0b oieney : 15 PifLmsst + 3.00 ek

Time Allowed : 15 minutes + 3.00 hrs
ofaEIH6 1. oEenhHH elenTdBEbID gflwnsl ugeurd)  o_silsnmbT  6f
Q@snsitenayLD. aFatudeiso  @mpulGUs 2D
o _Lemgutad Opfalbsalb.
2. Beod (2is60gI) HHUL emoulenan LGB 611pHINHDESHID L ARG E
LUFUGSHS CaleBLD. UL M6 aEyaIHD@ Gueidled LWISTUBSHSHALD.
Check the question paper for fairness of printing. If there is any lack of fairnes

amil Version)
Cungp WHLCUTIE
Maximum Mark,‘
shupemen  Fflunig,,
memrmTefliuTsnf

Instructions : 1.
inform the Hall supervisor immediately.

2. Use Blue (or) Black ink to write and underli
GPuy : Cameauwner @LGHH6 ULLD eusn)bdl FL6IUTBaEens T(LDSHYLD:
Note : Draw diagrams and write equations wherever necessary
ug® — [/ Part-1I
GUlY : 1. @ alanésEhsEL allenL Wl saLd
2. QEIResLULL BT el sefley Heab  ghysLw  ellsLe
CohOsBHH GUUILBL 6T efenLuienand CFihbgl (WS-

Note : 1. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and write the

ne use pencil to draw diagrams.

15x1

option code and the corresponding answer

1. HedsCol Bamellal SiglLenL aIQeUHIOLIL] HHVE

o1 [Si0s]” o, [Si04* @. [SiOo] F. [SiO4]"
The basic structural unit of silicates 1s
a) [SiOs]* b) [SiO4” ¢) [SiO] d) [Si04]"

2. GOPELSSHENTS  HWsilBD fedser, Omiomeflud  Gurisim  HeNORIGET

(penmullsd HTUWLUILGHSULGES DT,

9. QapfLéssn CanuiuGSHSIHe QL. GUTEH - QYiB6D (LPED

@. wed_ev HSHFHHMLIL F. LDGTeITHUGSHSH0

Elements like silicon and Germanium to be used as a semiconductor is purified by
b) Van — Arkel method

d) Electrolysis

a) heating under vaccum

¢) Zone refining
3. oy&6en oiblevmiseter o 6AgCapn Hmer auflend

o HOX > HXO0; > HXO03; > HXO4 . HXO04 > HXO0; > HXO, > HOX
@. HXO0; > HX04>HX0,>HOX g, HOX > HXO4 > HXO; > HXO»
The oxidising power of oxo acids follows the order
a) HOX > HXO0; > HX0; > HXO4 b) HXO, > HX0; > HX0, > HOX
c) HXO; > HXO4 > HXO0, > HOX d) HOX > HXO4 > HXO; > HXO,
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d) All Cr - O bonds are non-ec
L UQBURY enswiinHmsi aflsngug (Hmiwrsnss Csu g ouf Femb saf

ICLRG m;nt?u\{yww Pada alai.Net www.TrbTnpsc.com

i 5 thiem
o 4 Cr-0 ur.'nmfnruh 8% mis

a6 Cr=0 viemmmin g,

“oaf mu
@, oEenday Cr-

0 \smasnin o 5f gy
i, o Cr -0 U snssmis g, ST

af JhHng
In the dichromate anjon (Cry0y)*

0) 4 Cr = O bonds are equivalent b) 6 Cr — O bonds are equivalent ®
¢) Al Cr=0 bonds are cquivalent

£OLEsn

ufmz) Uisraemid saf man ‘
ysoTeninSenen IDUBHBIuE 17

ol F 2, CO 3. H.0 &
According spectrochemical series which of the following ligand proguc®ystrongest field and
cause maximum splitting?

a)F~ b) CO

¢) H,0 O dH O
- 90 WHL ams aloaibg, efomGas wayed  6.909

1afs) 75% efanar  (Senpsy

2\ oof
" - Wl -
£, [3};5[3

the time taken for 75%6 conversion in

Gup Comemeuwinen &msulb (BLOLmimbsir)

3 2
3l (E)Ing o9, (S)log?_ Q.

For a first order reaction, the rate constant is 6.905 m
minutes is

G SR SRR oL

i
2= |
Ay

2 4

) Guigalgh sImeir
. 52.38% #. 48%
nteted cubic structure is

WPasULDILW SMEFFHT DI0GE L1
3. 74% &, 68%
The packing efficiency of a f'lC

a) 74% b) 68 ¢) 52.38% d) 48%
. Geol Gallys B (charging) Quwupb Gung

. Gmmﬁlaﬂ@mm
), Gmn@m@pmwuﬂs\)
®. egnlapen

ag,smg,l Pbous @BbE0MLENHI
Us eyongsl PO, s aydendggBanimiosni admm)
080, @ueimH Pb oo hdbswmLANE

#. adlideipogguiey PbSO, gl Pbays ey dbalggCaipmwoendpa
While har lead storage battery

a) PbS c is reduced to Pb b) PbSO4 on anode is oxidized to PbO,
c) PbSO4 cathode is reduced to Pb ~d) PbSO, on cathode is oxidized to Pb
dsisumevensupmisit e1gy aflwrs Qurmbgujsieng?

D). LTEOIDID - Quuiesn’_

&, B &IHY SHMFFEL - UT6d

@. miemy - DS

#.  @enl Q661 Qgm0
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Which one of the following correctly matched?
n) Emulsion - Paint

b) Liquid Acrosol - Milk

¢) Foam - Pumice stonc

d) Gel - Butter ' ’ '
10, Gaot. o@urenLisit @HsnjHpsH CumbSH wgHony 3.2 X lu“} s16flst DDA mﬂ;ﬂ’ﬂﬂf{‘)’i I::fﬁml

o 1.8x 10°M o 1.6x10°M @. 2x lff’M . F. 4 X

The solubility product of lead iodide is 3.2x107, its solubglty will be % -y

a) 1.8 x 10°M b) 1.6 x 10°M c)2x 10°M

i P @ et hment euflens
11, ariusherso Gaiwimsion smpboai Baidmm slsamiisil GUTZI s

2. HCHO > RCHO > CgHsCHO > RoCO > (Cells)2

25 HCHO > CHCHO > CaHsCHO > CH;COCH; > Cofl &
5. CoHCOCeHs > CH;COCH; > CHsCHO > CH3CHO >§JCE
+ 1CHO > CH;COCH; > CgHsCOCqHs > CHsCHO > 0

The general order of reactivity of carbonyl comp un@ards nucleophilic addition reactic
is A
a) HCHO > RCHO > C(,H5CHO >R,CO> C(,H5)2
b) HCHO > CH;CHO > C¢HsCHO > CH3C > CsHsCOCH;3
¢) C4HsCOCHs > CH;COCH;3 > CGHSCIG " CHO > HCHO
d) HCHO > CH,COCH; > C¢HsCOC »CHO > CzHsCHO
12. aapp : apsieneal AV 25y IV A b ellenenuisd  gflensmw DYEOBADTE0HMET6
aeiFs0 AFBUBHDBEL |
ameAD : gl %w@ ol cpellenemw  ZFOBABIEOHET ousllento  &Hemmi
20610,
o). GaB  WDIHID mg@mﬁ:@m gfl  Gueud  STFEsIOTEIH sappiimener  gflwn

s sBBOTGID.
24, FaBml wfg@m\@w e &M Guogid  SHITERIOTEIL] gamimaerer  aflwn
DI EEANY,
3. aabol ol & nyemn  Hal)
A Gnl D e ZeHBD HoD
Assegtion “Sgrtiary alcohols undergo dehydration more readily than primary alcohol.
ReasoNertiary alcohols are less acidic than primary alcohol.
oth%ssertion and reason are true and reason is the correct explanation of assertion
assertion and reason are true but reason is not the correct explanation of assertion
%cﬂiom is true but rcason is false

®
% Both assertion and reason are false

13. dsioump elmeanflmsuish ellmmGuimsit X g soi s,

C,H,0C/ —— C,H,0N —4220 CH,CH,CH,NH,
(X)
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15.

16.

17.

18.

19.

TIN5 YT /£ L it
M, ((‘H\ML\N\N.QﬂdFsalai.Net WLl mpsc.com
it (‘“‘("‘ri‘lhmm
Identify X iy g1y,

CLOC M hee of reaction,
' md lllq()Nk_D_',,}E[m g
(-\) —a( l'.(‘llj('ll)r\”')

o CHCHLCHOCHECE

Ihllnwinll " CIHOHCHCHO

Seque

0) (CHY),0) ICOCy

¢) CHhCH,y 0y LCOCY b) CHYCHLCHOH)CH,CI @
m- su)l,smp',\‘_(Bun@Lmhzr

o ) CICH,CH,CH,CHO \Q |
01m? P60 (NH);S, sfeney URbE Omndaaib 0,0%’**’@ ANGLT ST
NO,

R NH,
B
=

& i
o e Q, Q £
! o) MN NO, o) MO, Hs \J\rml
The major - A

product of e reaction between m —

dinitrobenze Hiy);Seis
NO,

o, NH, &

"
a) t “NO, b) HzNQNoz C) & d) H';Q\M**z
I &g e Sreiimbeneo DIOLILTENE s16m @

~

N

' 3] &l
S unelleutien_§ WEHIOBDTG Hensowren @@nmﬂ
Q. BF G\sumjeis@m ALuiGessir

& o - SuAGsr Olfleoniseien euflgns

F. O — &msit WPHIOHBIDL

The secondary structure of a protei S

a) fixed configuration of the polype ackbone
b) hydrophobic interaction

¢) sequence of ¢ - aminoaw
d) a - helical backbone

PY q‘“ ug® — II/Part-11 6x2=12
985@Ib Qum «f "h@@

Lwellds.  eflam srewt 24 6@ sLLTWIIS
allenLwiefseseajib.

Answer any 8ix questfons. Question No. 24 is compulsory. -
BIETOH] 8 GHODSSD syl sei LWSTUGSEINST Siudlwd wirs?
What is the

of depressing agent in froath floatation process?
Ume 8 HmeT ST . .Lsn e oi8s sllsnengmanianL wgl. esi?
ne is more reactive than other halogens?
HMIHME CUmHSSID EUEHFUI. .
Define solubility product of a compound.

elipLgenar  GalplDd  EMJFOTS LTHHUIGHENSE  Fa|PLOLONES CribaluBEmE. @dammneny
GSHHIGHEN_BLeT allend@Hs.

Peptising agent is added to convert precipitate into colloidal solution. Tllustrate with an
example.
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27.
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s psnan math i @srL UL &y,
Qr.f ssim. 0SN  Wlsiugss,

wPHiny 1552 swsdg

QO Wi ggad  awoalgositen Qred{ (Fsmrigsx

l‘s c‘\ﬂ ."‘\ b‘!ﬁl(‘\(\“_'\m lﬁt\il(l“oﬁbj-\lll?ns] G’)KU’"‘{{')“' L [li) 4 Sy
3 3 I 18D
aaepihe  0&medhay  uisBhe mesiL g 1A
aavyaadst une au bt wglis e, |
l a distance 1.5 cm and the croy,

A\ \ l hy
A conductivity cell has two platinum clectrodes separate
l ¢ of 0.5N clectroly.

sistanc
sectional area of each electrode is 4.5sq em. Using this cell, the re
ion.

ut
solution was measured 15€. Find the specific conductance of the sol $)
. | - snsas,
t - ol sgeosamiasy  onfsb  Hsobh L @BynGuoLent "@

Qeimad  QuadaSmGapmb ssLwd Qi @uwgonor? o & carbk
. . g . 0
Is it possible to oxidise t — butyl alcohol using acidified dic c i

compound?
QutsTRROADEESMHHS! TOMESL. UFNF FrwD ssiTD H umu"
How will you prepare Malachite green dye from bcnzaldehy e!
Usapasaioy afosuBdHois.
C:HsNH:, C 3)2 (C" <)1NH CH;]

(1) pKy vFuysalst @uug aufos :
(i) 17 esdevwcuisn gmeafivs : CeHsNHaz, CgHsN(CH:)Y, (C2Hs):NH, CH;NH.

Armange the following.
(i) In decreasing order of the pK, values : cgﬂﬁ N(CHs)s. (C2Hs);NH, CH;NH;
sN(CH3),, (C-Hs):NH, CH;NH:2

(ii) Increasing order of basic strength : C¢H
a1 (X)) sz (Y) asmp Gumpmsis

CsivdmL e aiveanyfiba (Z) a&m p ameiuloa soEDa. X, Y, wipw Z

SWLDS.
A hydride of 2™ period alkali on reaction with compound of Boron (Y) to give :

reducing agent (Z). Identify X,

Lgg — III/Part—III 6x3=
geHEID YW dm&&@m.mmﬂé&s. alenm sten 336@ SLLMUILDTS
Answer any six q1.l estion No. 33 is compulsory
Fs0. .uT& BIHE@GID &HMJenl  AHUSNA  SSHHD 1BHHIHBT_BBEHL
AMSH5. %

Show that Md is a dehydrating agent, by giving suitable examples.

B3 BB aspTe0 elsian? Simar MW 2 CaEHHsT  UsiyBafadnhs
STEUAMT CEis% 1 ,

W erstitial compounds? How they differ from the properties of its pure metals?

L HEDSVULBSSHD JYDWsY 616MTE0 61660 ?

What is crystal field stabilisation energy?

LS HSHORESMN LURS RaIBD Hswtissaiedmhbal CapuB s zIs.

Differentiate crystalline solids and amorphous solids.
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33.

34.

83.

36.

R O R A=

\ lai.Net www. TrbTnpsc.com
""’“"Wlﬂx"WW\M‘PQ%gfl '"”[illl sheneniic 1nin neni g, ’
What is the role of adsorption in the heterogencous cats
AUSDBITEOL [ 450 BPsmis mg D S

State and derive Ostwald dilytjon law.

dsieumb @sopun’ @ Crmiimensy 5

slisn s, e’
lysis?
L"T'l 9) ")'2;‘;11

—BHMTHGD e Lifisisasiar Guudsee §

-l::ﬁg‘
(1) Gusbsondym (i) Guieyf (iii) wrsmeians
Name the vitamins whose de ficiency cause | @
(i) Pcllagm (ii) Beri - Beri (m) Night blindness

What are bio degradable polymcrs? Gue two cxamples.
&BNFCyn silsnenulsn elsnsnanf (psoysmy shsndm s
Explain the mechanism of cannizaro reaction

ugH — IV/Part— v 0

SpSTERID lamssEnEE almLwsidsab: O
Answer the following questions.

“n
i
‘h
]
,J
"

a) omemer Catwnisalst @mardpst ey Cxtsisa¥s CamiuTRas s
(Sisvs0H!)
b) 1) selw afms o Lamaulsn omhsm®
BTG SSHIS.
1) XeOF; — & stemiu@ @aisseol
a) Mention the main assumption of valei

BECHE SFOTIR S XY

1@@43@1 APROHI DU JAS,
heory of coordination compounds.

b) i) Justify the position of Lanthyggt 1 Actinoids in the periodic mble.
ii) What is the hybridisation ill%:‘? Give its structure,

a) i) @alo Qusifs ﬂﬂ@umgﬁ" apl asiemu sunddstndna?

i) 10ciBeug) LllﬂlnliL - 6 oEnfalund INHEOREHHOD Agrann. HWPash g
LG HSHIU
(@Id6VE)
b) 1) 9® Gicmsmuﬂ almaaim®  pUd  apeodbimpl sedl epadiitng Qe &

Goum lunmml /)

i) Eimisgh & )uerG\Slﬁm QuaImmHiet s1eal? AR MBHEMD B HIIDND Ko,

a) @s known as Inorganic benzene? How it is prepared?
{

s the role of graphite rods in the electro metallurgy of Aluminium?

(or)
b) i) Write any three differences between order and molecularity.
ii) What are the two types of buffer solution? Give example for each type,
a) i) @reveuneld, 1aimeod @GITUTLIQE OJLEHEET s1URDLIN,
i) pm@® weoghwed (interealation) eehipned sredien?
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b) 1) wshioiadmsd whob ureos Nenge| MIMTUIDI
i) om giop — eiop BaenHn sumsldsntear smu - abHo WwHOID sy,
ST S1(10DID.
Q) 1) What are the conventions used in Galvanic cell notation.
i) What is intercalation?

(or)
¢) i) Define Emulsification and Deemulsification. @
if) Write Debye — Huckel and Onsager equation for a uni-univa@olylc
37. a) SpsIL THDRBEMET sI6ISITD) uﬁ‘m@gbgﬁmnm.- o
(i) opLGyn Gusidet — N - Usvansosnamljrabdleolls
(i) yliusenn@ — Lpiust - 1 - onbe
(i) oiefelsi —> p— enpLBym isflesh 0
(S1606051)
b) i) Opidssit esipred eenisn? OpTH Gswsdur @Qm aufupsnpaiL slembEs.
i) UreCuremey Gemguib - UTHIES & erefenaouist u@Bweney HBHE

QuT® esier BHab?
a) How the following conversions are effe
(i) Nitro benzene—— N — phenyl hydrm-nine
(if) Propanamide — Propan — 1 -@
(iii) Aniline —» p — nitroanalj
Q (or)

b) i) What are enzymes? Explaj mechanism of enzyme action.
ii) What happens when %e is partially reduced with sodium amalgam and water?

38. a) i) X wpmpd Y o8
EIFFHIT S pdgoulsh X SignbsEHD ST owwHH Y SAgmed G
QunB B GHl6T eumIiuTE  eTeiTea?

sapésst BCC ugs ssnwlldsos 2 maursGaem

ii) CsH,;@ a@éem@p aumiur® Gsmemi  (A) ergnib STiLIEETsH @aiowomen
G& & mULBLET Ugs efpensl SHAMH. Gosid oiF SIBwTGLmUN

allen o LuBdmaEl. Gsiwn (A) oendE C.OusimsmysFamen BsGauSHea
s'r H Gamod (A) ensy SeWILMIS.
(Di0E0S)
b) GqeIp  apeudda@  emium@erw  FsF (A), oiFsemey ot HI oL

UGS Gurgl Bremih senssd GameneuBaenst OsTGEIDBH. Cugibd @

Mpu@ss, Gsiwmss (B) wimb (C) 2@pandpg. B 1 abfgtampn Qeuw (

asip ouled 2 garsng. Cogib (C) 8 wsdmGappbd Gruw  SUGLmea (
o _maundmg. A,B,C, D wigd E g sai@lypss alomansaner 61(LDSHI%.
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0) 1) AR RRESIFNHCC crystalline structure. Atom"R'H preaemPa R Bomers of th
cubeand Y is at the centre of the cube, What is the formula of the compound?

" . i . \ in¢
it) A carbonyl compound A having molecular formula CsHjO forms € stalli

eI A\ \ H . ' ' 0 « cC
precipitate with sodium bisulphite and gives positive iodoform test. A does RFT u

fehlings solution, Identify ‘A°. Q
(or)
b) A ether (A) CsHy,0 when heated with excess of hot concentrated &Qd two alkyl

halides, which on hydrolysis forms compound (B) and (C). Oxidation ORB) gives an acid
(D) where as oxidation of (C) gives ketone (E). Identify A, B,L, d E and write the

chemical equation. O

S

*Q%
N
~§Q
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WWW'PadaS%ﬂthﬂmnﬂ,mnsﬂ 11/ Model quedti- pApERRIC.cOM b
Gusofilened @oexin.mb @ / Higher Secondary Second Year

BewgAufwish - Chemistry
(etieoh woponb gt / English & Tamil Version)

e wiwiey 1S Bimmstt +3.00 wesl) Guonhp WHUCUEAES! .
Time Allowed : 15 minutes + 3.00 hrs Mayimum Marks ..
HRTOEI®a 1, opeigal  elsrtdmentb afwrmil  Lgemmal  p_aitenLhI 616311, Fuit g,
Qmasitsnapb, aprathels  @emulsinisr @mm@awﬁummﬁlm
o_Lenguinag, Gmfalds|b. \
2. pheob (SISO ML emioudlement ol B HIN BN
SNAHBHIYBMHHEGD  IAUBHD GausmIBLD. L ausoyeuEDE  Gusiadl,

UsIUGHHOD
Instructions : 1. Check the question paper for faimess of printi rQ. }crc is any lack of fairness,
inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and v ¢ use pencil to draw diagrams.

@iy : Cxeanuter GLHHH ULD mmuﬁ,@gme&mn@m 61 611DEHE|LD.

Note : Draw diagrams and write equations whe necessary
u@@ - t—1 15x1=
G0y : 1. SinahEH NS EhEH LD : mﬂg;aas)[w

!\.I

GUUWILGL&T alenLulen THEHI 61(05!5.
Note : 1. Answer all the quesn
Choose the most % swer from the given four alternatives and write the

QarhHssUULL BTG % e ghysmLw alsnenud BCxTH0HBHE
1D

N

option code and esponding answer

1. Ussumeusiaubmisi & mm 61F?
Si. [Ni(CO);] — medip MOTEHMbd HEmOWLEL WIS

) [Ni(CN)4]2' @ M_WITHNHSH SHETENLOW|EHLLLIF]

@. [Ni(CO),] oL LTSNS SHETENDWLEIL LIS
. [Nl(CIL@u LUTIT&NbE SHEenLosnL gl
Which atem is incorrect?
Tetrahedral, Paramagnetic  b) [Ni(CN)4]* - Square planar, diamagnetic
c) %Tetrahedral diamagnetic d) [Ni(C1)4]2'-Tetrahedra1, paramagnetic
LITeroLIgsTD admggﬂm &MY HHIGULD

\ @. 3 F. 4
a51c1ty of hypophosphorus acid is

a)l b) 2 c)3 d)4

3. spm : OUTLLT) URSTIHSIET BibsmIF LSS UITLIHSHE.
Semd : sdeiwd F60BUl BITHUGUUML ST
Sl DO whmb smemd @remen il Cueud smremioreng Fmppiine sfwrer eflsnésb. |
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TN T ww@gdasﬂzaiﬁl}‘lﬁt

www.TrbTnpsc.com st
, . . p ,'v i B
mﬂmul,mmim\\. Doohdid o Bioguns — avrgwmmpnen gl saiifi
@ onhy af)

MU a1y 6511y h
Mn (i o
Assertion ;

M
" Q|

AT OVERIONS IaIm)

ous solution ol potash Alum is neidie,
Reason ¢

Alaminium sulphate underpo hydrolysis,
1) Both assertjon and reason

are true and reason is the correct explanation of ags
b) Both assertjon and reason

‘ are true but reason is not the correct explang i'@“‘mn
¢) Assertion ig true but reason is false

d) Both assertion and reason are false

Aque

BN a6l QuIn sy A ANBaim Hensv, 0

D)) +2 a1 43 @) +4 @-m

The most common oxidation statc of Actinoids is - s

a) +2 b) +3 ¢) +4 d)+6
RN [ TN AT sveireiedas 60606 a iz g, hepih (1psm)

Bl D_OHHGHe QL. T glpeded eumidhys

8. auhae . Lo Uiy apenm

Wolframite ore is separated from tinstone by th ss of

a) Smelting

b) Calcination @lsting d) Electromagnetic separation
Ueiteumsuemsuripsir STEHI BOuTen g7

Ol Gprdseier Quuishum el g5 Gﬁ’a@i@ (tpiguib
& Diwen Oprdaeiamed G

elama@aunonin Gawsoun® @smpamnsl
8. Gpﬂgﬂ sllenaBous HIOTENg)

& Bihem Coweothmid semwsnw QuimstsTH
F.  owwoidst pH U NQuIesHs Opre)  elmenBaumionhn  elensmmsflsi  Gausid
SIMLEDHI
Which of the following i ct?
a) Enzymes can be j \ (Poisoned)
b) Catalytic activifagf enzymes is decreased by coenzymes.
¢) Enzyme cat sis is highly specific in nature
d) The 1¢ catalysed reactions varies with the pH of the system
Quon g

S0 x 10 o 602x10° @ 6022x102 ® 6.022x 10Y
The nuthber of electrons that have a total charge of 9650 colombs is
a) 6.022 x 10% b) 6.022 x 10%*

¢) 6.022 x 102 d) 6.022 x 10*'

o® 2 Gurahdsl (poUL LW SMEEH] DG Salgst (FCC) sllafiby Bemd 82 pm
aieflsd, 2 _Georas oigmelar Qb A°

. 8
. 0.04 . 0.02 @. 8x1072 B —
! ‘*‘* Np
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10.

11.

12.
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In FCCunit cell of the edge length is8/2 pm. The radius uflﬁc et A8 is A°

0 2 d)"-ﬁ—
0) 0.04 b) 0.02 c)8x 10 J2
4 s ol gl
on  elmanuls  elmm@ums wrpledulss wHhing 2.3 X 107 Iit mot's - Sisisimeny

ol enaaonsna,
Sl UM euenas
The rate constant of a reaction is 2.3 x 107 lit mol”s™". The order of th

a) Zero order b) First order ¢) Second order d rder
Usiaimasauppisit @emmans smywibagul [Hena|nTsd 9’—0& 61517

. owel Gumbsd > soydpst Gumdstd (Kep) 0

&b (WPHED UM @. @gedmb eund . AP f@nm

is

Q. owell Qupssd < smyPdpe GuGHHD (Kep)

8. swel QuEssD = smyHps Cuedbsd (Kp) O
F. (o) wpobd (@) e ;

In which of the following cases, the sparingly solu olution is unsaturated?

a) Ionic product > solubility product (Kg)  b) ic product < solubility product (Ksp)

¢) Ionic product = solubility product (Ksp) dB ) and (b)
Usheumeusneupmisit e1gy sflwunrs GUI®HSaIED

3. HCwmiifen _ —[—CHz = CHZ.]i

0
Q. BTSN — 6 = @ =(CHy)s - NHCO - (CH,), - PJ-]E
0
®. OLfeSenr = .OCH, =CH, -0 CI‘_O_B.IE
|

0
F. uTedloismBGeor @EL@ +CH1-EE -lF

Which of the folltﬂ»'\ cgrrectly matched
a) Neoprene Q & ~[»CH2'E’=CH-CHZ.]H
° 0

b) Nylon - \ 5 _[_NH-(CHZ)G-NHCO-(CHZ),,—&-]E

0
;)Te\% - _{_OCHZ-CHZ-O-E_O_&}E
){ crylonitrile _[_CH2 E: _}3
Ueiteud snppseiiey e1g aflwmeng?
o1 PysefCurens@ + urebunflds Sifisod — BubemGuTen B
&, HuseiCurens@ + &M — pubeiCurenL B
@. sissamy + &ML = HuyseiCurems®
# n PuyselCurens® — umeipusaiGurenL (G
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16.
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20.
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Which of the following statement is fncorrece?

a) Nucleoside « Photphate —s Nuelertide
c) Sugar + Base -

www.TrbTnpsc.com

By Nowleride ¢ Bane — Nutlertide

N [Cﬂ"ld’ r!) g Moclerede —» P’.-“-".'")‘_'—.“b’,"-.‘/-"-'

Uswsuyn sliienemiish ‘D° slsnarGun naram b soom_ s
5

CH,Cl £y A w0

N C"]C“;N“Z £, CHOCN 8 HCONH;
The product ‘D" of the reaction
C}{3C’ KON %{\ 1< HII_,;B 2 ?C L) 3 D

a) CHyCH,NH; b) CH,CN ¢) HCONH; 0 CH,CONH;
O

]
M OH @ IUPAC Guuwt A
S 0wl - 3 - ssrruigsadson

@ Ol -2 - #sE - | - siE sefac

'B—[C-2.4D

=5y - 4 JA,JJ.)JI‘/::

- 3 - 358 -0 - & eabeoi
The ITUPAC name of MOH is

is
a) But - 3 - enoic acid

ut-1-@en 4 oic acid
b)But-2-en- 1 - oic acid Qd)Bu’a-eﬂ—l-mC&-‘d
Usiupasaudpsi sz asdsr Uass o)

S 2 - Bl CmismTsy £ 2 - glamCmiaTss
2. 4 - plCmlarTsd = 3 - soElGyrlsmso
Which of the following is est acid?

a) 2 - nitrophenol ~ b) 4 -

henol ¢ 4 - nitrophenol d) 3 - nitrophenol

6x2
geoHad [m elsamd usiEs. oisar asa 24 S TUnoTsS
sllsnL_wisiEEayb.
Answer any six ques Quesﬁon No. 24 is compulsory.
[Fe(CN)s]™ g, [Fe(H:0)]”" syfwaupist Sissmyssosst Gustan SpupsoLus
e ¢

[Fe(% e(H,0)s]"" are of different colours in dilute solutions. Why?

Lu‘\“r La(OH); b o185 &1535am0 2wz ax? gsi?

e basic among Lu(OH); and La(OH);? Why?
ZuBHH0 selsuTr GCsmmfish swimfiiumi?

How will you prepare chlorine in the laboratory?

uyiy &suidsdsn Spiniwsoyssn wWrensu?

What are the characteristics of adsorption?

Fass0 e (B) eisimTsd ereien?

What is Buffer index (B)?
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AL = D) @yamdBmasnuy Genradsit SEmoiie s sussy)m.

Write the structure of o — D(+) Glucopyranose.
sihaelsh adsnendamnensy GutBuimgd onlsodmn s apparOg@afyp AL GGT,.

22.
Write the chemical equation for oxidation of ethylene glycol with perlodic acid,
23, werodiuBhH s p_Ledsh s Gawsiyf Asapa’!

How the transquilizers work in body?
2. BEmeopH Zn(s) + Co®' =2 Co(s) + Zn" sy sfovan H
=40.76V, Eﬁ”,o,z- = +(.2%

' Q (AP HA Hi

. . . g . 4”
emf seMeEHEH. OBIGHHIULLH E, .

The reaction Zn(s) + Co®" = Cof(s) + Zn’" occurs in a cel pu
cell. Given that E;nm.!- =+0.76V and Eg”wo,, =+0.28V 0

ue® — 111/ Part 6x3=
gep@Ib Y elensaase sioLwsiss. 6l &3 SLLTUAS

allenLwefi&sa)ib.
Answer any six questions. Question No. 33

the standard emf of th,

is compulsory.

25. Jsiaupaistaupeny S@hs 2 H1)embbEnLs] 5.

S &N 1T &Y. HAND &F
Explain the following terms with suitab]ple.
a) Gangue b) Slag,
26. gfCwmeneul Bamenr umy @AIly
Write note on Zeolites.
27. affsfwib wHmID SYisTalst %mang; HH.
Mention the uses of Helium and*Argori.
winish CuTHaSHmsT FFaABHHMMD B5TIHD [BHB-

28. Qurmsit enwow H&NF
iency of packing in body centered cubic system.

Calculate the perce
29. WsiBsug) suflant aesn? Baafieng easiamm  osifotend LWL HDsns
SeLMiw j 4
What are glectrodigmical series? How is it useful to predict corrosion?
7 i R N ey ) HB.
30. .9{6:\1’.(3&” 5 uw,:ig] 5 ) A Cl /FCCI;%B Ar N C
3

aubap ssuiL®. Guaub sisnsmuissr wisd CFuis.

A,B

v unlckloride_y 4 CLTech_, g >C . Complete the above reaction and Find
® Q Al
ABG

(A) sgub &fiws Gsiwd gbssws bz Gsiod (B) Cagssdpz. ‘B’ aysmz CHCL
whmb eyssanted svpbs KOH 2 1en Gaiwd (C) g Gz1Gs8pz. Gwsid (C) 8
elensnBGsus 1Bl (wasimeaoulsd gBssh Gl N — GCwiHsh ssfelshi e b&HD3
gafisd A, B wpp C g as06ly — almsismsn a1psis.

31.
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33,

34.

33,

36.
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Anorganic compound (A) on reduction gives compound (13), () on treatment with CHCly and

nlcuhol‘lc KO gives (0). (C) on catalytic reduction pives N = methyl aniline. identify A, B, ‘
and write its equation, _

www.Padasalai.Net

1) CungnnTefed gy s Quisiia i,

i) S e, Doty gumfinmis?

1) How will D6 Ognahdmien gBmsmb @eE Bungemanaaman SIGHD.
4 Wil you prepare benzoic acid from toluene?

1) Write two tests (o identify carboxylic acid,
Sitanjallwien

e Seiun_en_ vwsuGhA, Ty whmn Ty Gs)lﬂuﬂsnsumc@m;,
i st:mm(gm ki wipio ky aydusmifsn wfiymsisdmpa St ps0 Es
Wb HMBHGID FOGIUTIgenerd:  euqyshsm,

cquation to calculate activation energy from the ra tant k; and k; at
temperature Ty and T, respectively,

e ued — IV / Part -1V 0 5x5=125
BPSETRYID el (6m s @ sfeL Wb seyD:

Answer the following questions, A :
l')

a) 1) CamGonmalenL & Gaiomimse LIGTLE6IT Wnen
i) afl wpmbd CO W QyegaiLs Zn0  oaNgBss. Anks Bs@DL BTT6H

a51? gei? O
(€T ))

&l
b) QurCLrdlub enL @8yl Swnflghsemen r@
a) i) Mention the characteristics of interhalsgen cmpounds.

i1) Out of Coke and CO, which is the bftter z& ucing agent for the reduction of ZnO? Why?
b) Describe the preparation of Potass chromate.

a) 1) AlICl a1ds ﬂmmuuml_mg suamed TICH mMensoliysSEmOLDBBEI. 663’

i) 2 Geors &miusneTser Luph Usmemiilss sesnwulamar alanseEs.

Derive Arhenius

° (2i5060))
b) i) mrGenm elenen wm' SIGHDTEY 6I6HENT 2 _GHIFemiD HhHeb.
ii) G\g;mﬂsurréts[ uLgmiLer [ enwowiisemen elsndgs.
a) i) AICI is fiqge stablc where as TICI; is highly unstable. Why?
ii) Explaj ing nature in metal carbonyls.

(or)
a) i) @no catalysis? Give example.

iﬁ & ‘P centers with a neat diagram.
a) i) 9B W50 aums elmanbsne QHTMELILGHSUULL FUTL®L subel.
ii) ysitef @epUTGSETIST CUEDGLITLEIL 6I(QHI%.

&)

- b)i) pH wpyo pOH 66 @mLuleoren QHTLTeL sumeil.

ii) Gomeorit  sAme wHUTIGHSH — sMIHDE  CQumES

WHUY  el6usuTm
BiemulssluGang?
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a) 1) Derive integrated rate law for a first order reaction.
1) Outline the classification of point defects.

for)

b} 1) Derive the relationship between pH and pOH.

i) How solubility product is determined from molar solubility? , .
37. a)i) soairsit A AmBsiph Wi sOBTLE Gusmnst sfsns L fb‘ﬁl"‘l. %Wﬁn

i) ofilpd  onlopHeimbs  ofiiys ofaffsd  whph ol 3!)‘34"%?5\]3

sisaTm BHuUTfaaiuBAng?

(visv5) \Q
b) 1) sSiniBaaist »_uif (WHBWHEHINGHMHD  Fnllib.

i) Gign Gatapiueame (TFM) whoy uil @iy amys. &0
a) 1) Write note on Swemn oxidation and Schotten — Baumann reaction.
. . 2
i) How will you prepare acetic anhydride and acetyl chloride from C@f[-

. \O
b)) Mention the biological importance of Lipids.

ii) Write a note on TFM value.
38. a)i) gmuguish (monomer) Gsfemeng 005 mol L o o eiten @wmulp  (dimer)
2_MHaTGL @reNiLmd suems alsnsulen aﬂsmmr(%rmaso 10° mol L' 57", ol snsnGauz

wrielulensns sem_nfa.
i) Usieumd eflsnemsni Wids Osus. O

(i) O5 Mg-Hg
(x) CH3 -CH=C‘CH3 —_— ? (y) CH3COCH3 _H_O__> ¢
& (i) Zn / H,0 2
H, 2
(ysu
b) C3Hs(A) eieip &M Gaiwp He? H,SOy4 BeImBIML kg G B) AE(CE:F: 3%
(B) @Bwr_muminb Cangemens@ 2 MU, Gsiwib (B) @ysng NH, — NH, / C,HsONa
2 Ler ellsnen yfihg enaml Gy ©) ms smEDa. Biss N.OH (psiieflsnsoulsy
(B) @yeng HCHO o 1 61 LB Gaiiod (D) ms 56#Bg. A, B, C wingn D o
&by, eflenensensn o

a) i) The rate of fonnalidhﬁdim rin a second order reaction is 7.5 x 10 mol L' s at 0,05

mol L monom ation. Calculate the rate constant,
ii) Complete the reaegd
3

®) CHs-GI\.- a 0%y 5 cuycocn, M8 He_
3

HZU

(ii) Zn/ H,0

b) An organic compound C3Hy(A) on hydration with Hg?*
gives positive iodoform fest. Compound (B) heated w
hydrocarbon (©). (B) also treated with HCHO in the pre
(D). Identify A, B, C anq D. Write the chemical reactio

/ HySOy4 gives compound (B) which
ith NH, - NH, / C;H;s0Na to give

Sence of dil NaOH gives compound
ns involved,

130

—

Kindly Send Me Your Study Materials To Us Email ID: pS¢@anédendtim@an®canner


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.TrbTnpsc.com

v wrS® alsmggrst 111/ Model question paper 111
BEN @Fysmbd auew® / Higher Secondary Second Year
Qaufuiwed - Chemistry

R (5Saob wipgnd 6 / English & Tamil Version)
gl ST 15 P dizst +300 wed QU wPHlGueamsh 70

rime Allowed : 15 minutes + 3,00 hrs Maximum Marks : 70
OUTTES - | seidy slamassnd  sfunsl uBand o sisngr esupsmen Sl '

Carshmapn. DFFOUBa  Foplinilst  oEvph  BSNBTEHL
2Lsmyunsd Gafsissann.

‘J

BHD (Dssisuz) BB spwoulsnsn Lo (BGw

SELEMBAFDFHO ULSTUDHS GaSAGD. ULRHIDST & Guisin 60
UUsTUB55a0.
. Instructions : 1. Check the question paper for faimess of printing. If ther@ lack of fairness,
J inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline use nQiraw diagrams.
500 - Caamaunar BLSHH ULD SUSNIHE FLOSTUTHESST AYLD.
Iy

: Draw diagrams and write equations wherever n&

ugs — I/Part
G0 : 1. sEnardz eisssmean slmLws g

15x1=15

CE1BEE0ULL BT6IE elenLssisn
FHHULBLs sl ulsnsmyn G
Note : 1. Answer all the questions

2. Choose the most suitable ansv@n the given four alternatives and write the

option code and the corrc@g answer
]

. Germenwe GGmmer® Gomgu Limémeipsd wEsast Bnssmrsamn Qan&Hms).
2igs wéses PnsEie emeager Bjue

o)) Cr)0, i) s Py @) CrO; ) Cr,0;

Chromyl chloride \lvcd in NaOH solution gives yellow solution. The yellow
* solution containg

O @ giumLL slsmLamwd CHTHOSHH3!
D515

a) Cr07 % CrOs ™ ¢) CrOs d) Cr,04
2. ays mm SUOTL. Litp & QYeminlifir Lip s oj&adsee ommith Gasmemmriisssfleir Qammy

L) fwﬁ\ p=y=90° o) a=b#ca=P=y=90°
@)a:Na'=ﬁ=90" y=120° W) a=b=ca# f+y=90°

The arrangement of crystallographic axes and angles respectively in hexagonal crystal
systems is

a)arbtca=f=y=90

b) a=bzca=B=y=90°
¢)a=b#ca=f=90" y=120°

d) a=b=ca#f+y=90
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Qusshdedlsar 61 SUTLIZR) 6TEVRIEHG i

9) susdl Heunmewef) 1) wiscargapnifly stehif)
@) 2 somijeSlpiing o deamsir i) yflev e
Penicillin is an example of

a) Analgesics b) Antibiotic

¢) Anaesthetic dy Antacid

[Co(NH3)4Br,]Cl - sttt ojsmemmreys Cafusgdlie onsSums
9) suipeu ommd gussumgs wrmehut %
=Y uipsu wpmIb Gafl ipHd) wnhub 0
@) esfspnd whyid Sjweaflwrgsy rmliuth &

M) supeu ommaflwd Lo (Hi

Which kind of isomerism is possible for a complex 3)4Br2]C1?
a) geometrical and Ionisation b) ge and Optical
c) Optical and Ionisation d) ical only

& pm: 5iss oplflé ofivsdd Hny Bgn® Ans 2 Gursn soIADS  Dyem
MM TesiT sumy QsusflCwmisudsiemsy

sMremnd:  eplfls oufln 'gm,rb,q’ﬂ 28 oanlramer o sdlmGarhy
QaiiHmg.

3|) FMm LHMILD STT6wTLD @60 ST & Mmi&ansr sflunsr afleréaih gy @L.
) MM LMD SMyewerid @7es m:i. SITSITLL S MG eflumeT afaT&HasLn Zs6
@) snimy &l gy eurmed My m

M) SnM) LOHMILD SMyewTLd () 0 F6um).

Assertion: A sm of Zinc dissolved in dilute nitric acid but hydrogen gas i

not evolved '
Reason: HNOg ising agent and this oxidizes hydrogen
0

a) Both A € ason is true .Reason is a correct explanation for Assertion
b) Both Asse and Reason is true. Reason is not correct explanation for the assertio

c) Asse N correct but Reason is wrong
d) Bo ion and Reason are wrong.

smaa eflsmerrudlsir gjemreumpey smeuid 5 FlLil_ruger stanfled allsmear 99.9% WPOmIGLy

% 9 Al misst  gy) 49.95 Blfl_mser @) 50 Fuflh_mser @) 10 HLblruser
The half life period of a first order reaction is 5 minutes, the time required for 99.9%

completion is nearly equal to
a) 99.9 minutes b) 49.95 minutes  c) 50 minutes d) 10 minutes
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@EHEDETE e ANCLnehy g16nfidy

Sstreumh s 50 dob : ?
2) @8 2ydadla SOV AT Y B

8 @ AfNdsmmi) i1 6mofluy_ gy eflmaru@aigdene
@ @8 GaCanensy le@umﬂmsmm

m) @1 Lrevenflein ey swnflsmy SOGGIH e
Glucose is an aldose, \\Y

lucose? hich one of the following reactions is not expected wilh®
a) It does not form oxime ( )
b) It does not react witl Grignard reagent

c) It does not form osazones

d) It does not reduce tollens reagent &0

(CH3)3C- -CH(OH)CH, con H:S0,
9) (CH3)3C CH=CH,

.;9_1,) (CH3)2C C(CHJ
&) CH,=C(CH3)CH,CH,CH, #) CHy= C(CHa)CHz-ﬂ’;‘*ﬂ

(CH3);C-CH(OH)CH;3 <2558 X ( Major product). X is \
3) (CH3)3C CH=CH, b) (CH3),C=C(C

¢) CH,=C(CH3)CH,CH,CH; - d) CH,=C(CHy)Clz-CHy-CH;

W

log — Lﬂ,'DfJ,llLﬂ log p & @emLuferer Aysim’ 60 1@514 560 su@auius Cam ipsr emisy

> X (Wsdw ellemsnOurmst). X- sT61US) \\/

Lng)g]m y &8l quL@mumstﬂeasrr (psomGuw V/)
éq) —,k 3) log k

logk rF) log %, log k

For Freundlich isotherm a graph of(g is plotted against log p. The slope of the line

and 1tsy axis intercept res%we\ ;o esponds to

) —k b) lag— D c) Jogk d) log —,logk

3 MGUrrsurg] (Bamguu.lm LMD FSI (ylmsvﬂsmeuu&]su aflemsorul (R 3—
61 smELIfle) 2 (HeuT@GLo aflemenumeTgl

&) Camill el ifle) @ISt

@) SrHeuTs aﬁm ) G sir=Gl o alenT

Two molecules of propannitrile in the presence of Na/Ether to form 3-imino-2-
methylpentanenitrile. This reaction is known as

a) Baltz-schiemann reaction b) Thorpe nitrile condensation
¢) Gomberg reaction

d) Schotten - Baumann reaction

oyisGsr Gumils gufiwrsarg 373K Guiufmeudle Bités sflmarée o Lu@augre
2 meum@L (p&&iu ellsmerGlum(mer
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) @uonGumfld, spflsoh A1) Gurrifiés o fley fHifleol

@) Gunymedr uhmi s gebr i) Qi gnGumflih Hpfilsid
Ortho boric acid on dehydration at 373K produces mainly

a) metaborie acid b) boric anhydride

¢) Boron metal and Oxygen d) tetra boric acid

12, Qe afiumre Quirbarss) 616 7

b d@ Lo snmend] afemanufadr GLniy
&) Zn/Hg / ConHCl Aen@uosirastt GHGGLD Q)

&) LiAll, o_60() Asigsmt OGS \Q

@) Pd / BaSO, Grmastr(psiT R HH6L 0

i) SnCl; / ConHClI stsLicllsir GG &
natghed?

Which one of the following pairs is not correctly 1

Reducing agent Name of the rc%
a) Zn/Hg / ConHCl Clemensio r@m
b) LiAIH, Wolf- lqﬂk’? eduction
¢) Pd/BaSO, Rosegmund’s reduction
d) SnCl, / ConHCI Stq&eduction

13. dsreumeueraupailed 2 Uiy SIMHUEGSSRIE UL iig 2 0 6781 ?

9) Gemgpwid gd Gl ) SybGuorefiwd HEGLL
@) oGureflwi &Grar(® Q m) Gamgwid sopl G-
Which of the following salt@o undergo salt hydrolysis?

a) Sodium acetate @ b) Ammonium acetate

¢) Ammonium chloride d) Sodium nitrate

14.  ereumsusmeuma) ofl HL HSm60 QUTHSE! SEUTET & mml 6781 ?
9) UTGSammyEMpRLCLTE &L 58I5Smdr SilsflsAns)
Nhle e sLsg1dne ojflefésAns)

ctivity increases with the decrease in Viscosity
ductivity increases with increase in temperature

e
%olar conductance of a solution decreases with increase in dilution
d) Conductance decrease with increase in temperature

15, Ssireugmid o158 pG&salmer Galugussailush FunbsmerLiy eréSuimns) ?
2) Cr,03 +2Al —>  ALOj; +2Cr o)) ALO; +2Cr——»  Cr,0; + 24l

l ) 134
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which of the o ) Cr0y+ 2Mn ——» MnyOy +2Cf

following ¢

B reduction jg 1y
_ S not thermodynamically feasible’
a) Cra0y +2A1 | AliO 20 dynamically feasible?
¢) 3Ti0y Al e

b) ALOy 42Cr ———p Cr03 +2A]
— 2 4. AR 20y ‘
AIzO} FITY d) CrOy+2Mn —* Mn; 05 + 2Cr
=12
ugdH = 11/ Part -1 6x2
gomeId QW efemmas
PR T, 5G e wieitm,  eflem srem W by BLLINS

ANSWer any six questions

Question No. 24 is com
) . : pulsory. @
Cumfls obley ) ;
mf} é’{\: S, sTeusuTm) Gumyety EIEL DL ITeh ST mﬂibmlm”m ? ﬂ >
How will you convert Boric acid to boron nitride?

flETEu(mHLD LommHmig sy steusun) Hassiupens) 0
) Qamsen ~3-gehr Qme; srosir—3—epedm

ii) QuemrsTegmam® — 2-smemLés ) (Nemeorsd g{éll'_.y_@ulh.
How are the following conversions effected?
i) Hex-3-yne

——»  hexan-3-one Q
if) benzaldehyde ——  2-hydroxy phenyl acﬁAﬂ-
Couglaflomemifsir Couagems; uééih smyanflsamar GDMIG e
Mention the factors that affect the rate of the rea ‘
QMM GLOTEITSET STETLIMA WITanEU ? 2 GTTeuTThIS 6T
What are harmones? Give examples
BiomisiY aopullsT s&giusme allers
Describe the underlying principle of fi
&6TT6 EMLDIEISET ETETLISNE WTeneu ?
What are active centers? c.?
EOBEUTSIT—6 6TELEUTM! g,mmﬂéay;\aaﬂ 5
How nylon -6 is prepared? ™
Ngé arosorum(b) srsﬁrgnrr.si! i
What is Bragg’s equati
streuHLD sﬁlmmmm IS
P+ NaOH + 5,0

Complete the redw
P4 + NaO mx 28—

Batation process

ugg — I/ Part—III 6x3=18

g6 @aﬂmé&m@&’@ el wefss.  ellem el 33 6@ SLLTWIOTS
allenL] QJIb.

~ Answer any six questions. Question No. 33 is compulsory.

NstTou(HLD ,g&ésé\g@surﬁamﬂs&r SjeLoliy] o@D SMSSIUSDS 6T(HSI6.
i) smauntiGum LmsoLmflé oyflsuid ii) ayi$CaT umevLmfld Sjfls
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28.

29,

30.

31.

32.
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Write the structure and basicity of following oxy acids

i) hypo phosphoric acid ii) ortho phosphoric acid

1) pyro phosphoric acid
L] ’ [ . [ ] p 1 f 7
SONhgmEnmMiIQ @hmichenth srenrmins srearanr 7 Him00 shlement o) et wimemal 7

What is lanthanoide contraction? Mention its consequences.
. . . . . . ] : p U ’ ﬂ‘) ‘Wﬂ"n’ﬂﬁ
Wsirauih oymemrags Cadurimemen o oo spmafsrimefin i 44,

D\ BMSBITETT HITTT6001 M) o165,

[Ni(NO,) ", [Ni(NHy)J2',  [Ni(11;0)4]" Q
Mgorplion in the visible regj,

What will be the correct order for the wave lengths

and explain for the following ; 0
[NI(NO)g]",  [Ni(NHy)l™',  [Ni(1h0) 4]

Suells  Goquiimalidr  orsfdsn mﬁrmna p?  osfle  Gefodissfiir
sulp eusmLILIM @D TN EBHENEGL (smLuil e ffemLs g;l_l_msmsaaruu@?;gjm. '
What is radius ratio in ionic solid? Tgbulate t relation between radius ratio ap
structural arrangement in ionic solids. \
@0y susmys — HICL mamLirmei hsareu
Write note on standard hydrogen el

10"M ms')_n]ﬁGU'rT@(EﬂmTﬂés |Lle FHleT & 60T 5 (DB

Calculate the pH of 10"M HQ ,
GBI uamTs. i) Gl S mITEr60 GEme meT. i) meuEas allsmser

Write short note on 1) Bﬁt’s solufion fest ii) Knoevenagal reaction

\Nesreu(meusmrsun i ENGTTERFLD Fn 115,

i) yeafleSear N UL lsm6sT 6@ 2 L uBaudlimen

ii ) sTéAeulleir 1D gp,srrev gj6uflelsiT SemmTE).

iii) g|smLo st asT 9)Hle SMTSSETEnLn 2_ ML ILS).
Accoupt the Tallowing

i) Anilin®oes not undergo Friedal - crafts reaction

ii) lafine is soluble in water whereas aniline is not

u’ﬁ s are more basic than amides
3% s (A) —-CHgO; @efliy  Gemeulgwns  LwsTuGEmg.  Cusim s

g

sl Qaren(® (A) eow gy &fnGarpmd GeiuydGurg (B) womd (C) e
Cajurusaflsr sumeuemy GaThsSng. A,B unmid C miu serLmibg Cl&m_fsmLy

sflemEITEmILI 6T(LYSRLD.
An organic compound (A) - CsHsO; used as a sweetening agent, which on oxidatior
with Fenton’s reagent gives a mixture of compounds B and C. Identify A, B & C. Writ

Possible reactions
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HDSETEID iy, silenLwisfdmapb:
Answer the following questions.

o ) ) N[NEDTA)) sy ayenemmasGariiog s IUPAC ~Guauens 5169525
it) emLGunGryedr Simwiy umd) Amy @iy ausngs.
(9pveg)

) 1) Qeouhmes saflomss aewusma wrme? Ao fons sefuriss LTS

@rsimgever GGG, &
i) fésme smilmuou@sgm (pemulmer s, \c >
a) 1) Write the [UPAC Name for the compound Na;[Ni(EDTA)]
i) Write note on the structure of diborane 0

(OR)
b) 1) What are transition elements? write two characteristics of @sition elements?

i) Describe the method for refining of Nickel A

35. &) 1) wim CanGrmsamer sm it Less s s et Qe g a7 ?

ii) @smemTiiL| LomDAiLLD 6TEITMTD 6T6ITEIT ? 2 ST () aT&ES-
(1s00])
b)i) A — sflewmenQuTGLSST 6T6TM (PSS msméstar QsrosuBssi L Cas
sllSluflsmen oumellés.

i) @ aflsmamfeir eflsmer Gausid m@m& wrlsfemw CamuBsais-
a) i) Why fluorine is more reactiv%other halogens?

ii) What is linkage isomerism? Ex/#in with example.

b) i) Derive integrated r %the first order reaction A — products.
ii) Differentiate rftgo

36. a) i) eflmenG
i) NQuysrregtlwsor

100 and rate constant of the reaction.

LITGSUEUT LISTTL|&6TT LWT6ne ?

&65H6 (PSS IWSSIeD Wig) ?

N i s
i) ' Bisan efluflener s HFheTer Cammeasmiu (eSS
,N yfleosmy @’ smL sreTmme sTebrer ? 2 gmyewnn Qe

a) i) at are the general characteristics of catalyst?

i) What is the significance of Brownian movement?

(or)

b) i) State and derive Ostwald dilution law.

ii) What are conjugate acid — base pairs? Give example.
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3. ) Fig e e

) O weanen (Dhemer ii ) Medvrgn i (LA cimmer
(o)
2) i) Quise§ Seneminy - £ @i ns 076, o
i) oxBetilnchis Qeuin@d diph whpis LwEBETDD G35 gy
LALa A 8_BTTemD S5, @

2) Write thort notes on @
N . ii) dehydration of gl

1) Riemmer-Tiemann reaction

(%) &
¢) i) Write 2 short note on peptide bond

i1) Write the mode of action and uses of antacids. Givgample.

=) ) s sgs. b mmcﬁLIClc,qﬁﬁ ‘@9—“"—"-@ Sy
i) M; whges M; stéw Grea® 2 Gor 60150 LsTemQosRssT (Psnmy
E°,.. =-23Vuigd E°, ., QY-8 Geimpid S5 S5 B,

Réeiu Qg E° . =-044V

L)
(S ]
.

(A) &fwiGemod Bryupm KOHa,

=) C:H:NO aettp  qpsué5.1)
. eSlenermn’ (5 (B) sow Q&n@e&%@j smjeousibsnr eflmaréE 2L ub&ns.
m_uf’mcéwsn eflen 2 (R O oLl Glaarr@&,é}-

LoHTD D SO E677 EDETT TGS
2) i) Give reasons : ICl is Wreireactive than ;.

ii) Reduction PQ two metals M; and M, are E° g = -2.3Vand
B® e " %redict which one is better for coating the surface of iron. Given:

(OR)
c) Qp@und (A) - C;H;NO On treatment with Br, and KOH gives an amine (}

@ics carbylamine test. (B) upon diazotization to give(C). (C) on coupling w

give compound(D) . Identify A,B, C and D with necessary reaction.

\
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VB eew et IV/ Model question paper IV

Suwsensy @gesimb QeA® / Higher Secondary Second Year
Coughudussh - Chemistry

(uislsob b Bl / English & Tamil Version)
gred O 1 1S BB ks + 300 1pe Gungp wplGUmssh : 70
rime Allowed 2 15 minutes + 3,00 rs

SO : 1. Disnsng,gz, sbsed afunsi uHard D_GIsIHT S5

UTTHZ4E
Casitanayip, DI s s 50 @mpinids  omps 5 vuTsnfLLD
2-Leunag Oxflalsma. 6
2 B (D15050g)) HHLILY U Tsnsn TN(IE] ST BHHID
HECEMBUBIBHD  LLTUGHS oD, LAt JuPDHEH GusaFis
ULSTUBS ey,

Instructions : 1

- Check the question paper for fairness of printin @ is any lack of faimness,
inform the Hall supervisor immediately.

2. Use Blue (or) Black ink to write and undew pencil to draw diagrams.
&BUY : GxsmauuTen BLsPD UL eusmyha Fuw S1LZALD.

631
Note : Draw diagrams and write equations wherevmssary

u@5_1/®1 15x1=15
GB0yY : 1. SIMTBE| 6l S 6 @0 i

b&HaLD
2. OEIBSaUULL BTG sllsnL gassmb giumLw alenLenusb BCHTEOHBHE
GBULBLsT sllsnLulsnsmub \@si Bz SADEIS.

- Answer all the questions
2. Choose the most suitable an
option code and 0
. anlymsi Cansnsu@ssis
2i) HI>HBr>HCI>HF ®
2) HCI>HF>HBr>g1

Note : 1

er from the given four alternatives and write the
onding answer

LY msnﬂug‘ag,eimwuj‘.qh gllwren euflens s1z)?
\ 24) HF>HCI>HBr>HI
#) HI>HCI>HF>HBr

The correct ordeg of theriag! stability of hydrogen halides is

2) H-HBHCL MR b) HF>HCI>HBr>HI

c) HCI>HF> d) HI>HCI>HF>HBr
2. [Ni(C;04)

D Sisma)F BaiosHs0 Ni-gr SINEREY 6165

o) 3 \ ) 6 8) 4 M2
Co-ordK number of Ni in [Ni (C;04)3]* - is

a)3 b) 6 c) 4 d)2
ciy
3. H;C-ClH-CH-Cq-CHz-OH-srs&rm BaogHsin afwmrer [UPAC — Guwir
Cl CH;,

) 4-@&CsmCyn-2,3-mLOLhHs0 QUSHTL 6i1-1-260
%) 2,3-001_G10hH)60-4-3Bsnn Gy CUFIL631-1-2460
) 2,3 4 my0uoh Hso-4-mBamnGyn UL 61-1-ay 60
) 4-@CmnCyn-2,3,44 myGinhHe OUSHIL631-1-ay60
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The correct TUPAC name of the compound

Cll,y
HC-Cpiencneon -
Cl Clly
a) 4-Chloro-2,3-di methylpentan-1-o0l b) 2,3-di mclhyl-d-chlnmpcn!ﬂﬂ-1'Ul
¢) 2,34 tri methyl-d-chlorobutan-1-o01 d) 4-chloro-2,3,4-tri methyl pentan-I-ol
4. 211,0; ——» 211,040, asipy oleenided o RmICL GpybAd, Pildgin 484 O
p—@)ﬂ”‘ﬂ“{ﬂﬂ_ﬂ s16Ml6h) (')[[ilﬁ) 81‘)')#"4’%{) [m] ﬂ_@ﬁ)lﬂ(ﬁ)lh Gﬂll]llh (GlfJﬂﬁi) D;][l -’ﬂf)\)’ﬂs\))

o | o) 2 B) 3 ") 4 \Q
During the decomposition of 1;0; (211,07 —— 21,0 + 0y). 48¢ § s formed per
{

; ; -
Minute at particular instant. The rate of formation of water atghis Tgiggt in mol min™ is

a) | b) 2 )3 )
5. @ onpleddmnen eisnIUWISHDILITEIG] 0
S) QO evsLgre QuBImb@ID gD

) 6.22X10" qiodst gnehimsit QuiIma@tn 106 w@
@) om Gured Gamodheng LUIFGaUIL CpemauT LD
#) 9 Bursy eevdlgreisst QuifmbE@D 10605

Faradays Constant is defined as \

a) Charge carried by one electron
b) Charge carried by 6.22x10'? electror
¢) Charge required to deposit one moIe@stancc
d) Charge carried by one mole oftglfctrags.
6. Na* owell wigw ClI ow swell  ouEssT @emGu 95 pm wpmw  181pr

gaflsd Na© swefluler sisn .
a) 4 a4) %, @) 8 F) 3
The radius of Na* ion is 95priand CI"ion 181 pm. The co-ordination number of Na* is

ion 13 95p !
a) 4 c) 8 d 3
7. GpuUsTTUMEIH @ I 2 LuBw Camod

® CH; !
) c.sHsc\Hb\ 21 CHy-C-NO;
CH; -
@) CeblsCH:NQ: - F) @mel SImeTSHSHID
Nef \ynthesis given by
CHj;
a%CHO b) CHi-C-NO,
.% CH;

sHsCH;NO, d) All of these

8. Usieum ahd Swedlulsst 2 1| GCeusmieno Himpsni wig)?

o) Cd** o) Cu®* @) Co** F) VI
Which of the following ions of salt is white in colour?
a) Cd** b) Cu®* c) Co™* d v*
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11.

12.

13.
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me.@-,mmmmm SO S menton LI g (pioth?
3 ahdedd, a UM

o) Guirfld enami_yrdema
@ oniGuon @, @enim Ish

_ 3 I A 1y I WL
Which one of the following is negatively charged colloid?

a) arsenic sulphide b) Ferric hydroxide

¢) Haemoglobin d) Basic dyes

et ayduisnan mydeungerimsi
Mot gyeroNiflen SBEmeN MO HIDL OSFIL
Qo wisbpenmulsy »_emislipdms Gaiifsmmen.
S) FHY wHpb snyemip QyeiGo o mrgemb spgbster afl

T 411 @\D.
®) DU YD Bgemd AyeEGDn o ST Gammibmren sAwghe olsMehososn
@) awpm & QLA SIEmID  FHeu)

) SaBml imib ENjemd GremiGn Houmy. 0

Assertion : Paracetamol and aspirin are both antipyretics,

Reason : Both paracetamol and aspirin are controlled and v loss of concionsness by
affecting central nervous system

FDO UEn oL oned oHmID  ayero1d
S : gy DI Loned (p
SLOUBHSLUL L WBOID (Bair

a) Both assertion and reason are true and Reason is ¢

b) Both assertion and reason are true and Reason is no
¢) Assertion is tue but reason is false.

d) Both Assertion and Reason are false,

Geutiu @uisseiwisoLig SIPE Memsvliy S Qam'n_ &niueflen LUBGaubmIsny augsuLD

ct explanation for Assertion
t explanation for Assertion

3l) emeurid ) . ysveufsaeir ) “SlyTenLc F) BGeIT @pmilEsit
Thermodymanically the most stable allo pi of carbon 1s
a) Diamond b) Fullerenes

graphite d) Nano tubes
&6 OBTBHESULLmausEEDsT 6ihs @

YbEa1F Fissmy?
3) GEHHECETE &) &60 &) 1omeLBLTerd F) euTsBLTaTD

Which one given below is a nofsedu ing sugar?

a) glucose b') sibre ) ¢) maltose d) lactose
U6 eumeueTaunisy e1g) B LTS 6s0smev.

Sl) LT6OST &y AgNO; + NH;OH

<) Ousvelitl Hemyesd Wy,-  CuSO4+ GrrGesGs 2 Uy

®) Gueiigs aasmN - CuSOy + Gemgunb A Gy + NaOH
") eummmx@ - eLiTHCl+ ggpp ZnCl,

Which on ollowing is incorrectly matched?

a) To\ gent - AgNO; + NH,OH

b) Fel?m‘s oluion - CuSO4+ Rochelle salt

c) Benedict’s solution -  CuSO4+ Sodium citrate + NaOH
d) Baeyer’s Reagent - Con HCl+ anhydrous ZnCl,

CurgieuTs FemUB STHIGSHT I WHHL panmpulsd oL &sLLESDE. DGV 3
deieumid e1bp &FevemUB Sl Caudbswassd wapulsd SiLTI&sULGEng?

3l SiTogeenL L &) &e0en @) asmiuT eusl &) evEUsMIL
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floatation process.
| by chemical leaching.”

Which on
Cof
Sulphide ores of metals are usually cone -entrated by [ro ath

followin centrafed
2 sulphide ore o < AN exeeption and 1s con
: oy ' d) Sphalerite

N Argentite valeni ¢) Copper pyrites
b) galena (Ksp) BuoAs 1 By Hnabay;

ARICIO) asin Qannpfict msngHpe GuphnhFHHD
(8) B Ruripren (SRR T

=38
=) Ksp=§* a0 Ksp=§? B Ksp* ad ; }I(SP(S) for Ags (
{ or
The relationship between the solubility product (Ksp) s e

1S......

2) Ksp=s' b) Ksp=S" ¢) Ksp=4S’
uad — 11/ Part-1I1
. T%H
T Gy Hemssembe MoLwsibs,  OlET S5 ?A&

sfeLwishsmeayb.
Answer any six questions. Question No. 24 is comPUISOU’Q

o 77
uTstuTEDsY BuTey eNBL TS GusiiT BansmsuBHENST ® PR NG
Nitrogen does not form any penta halides like phosphoigs

6x)

- - - ‘7
L Bms sefonsst wIDUGD b RCmDD w GuIAGUUEHS

Why transition elements shows variable Oxidatwf?
[Co(NH;3)sCl1]SOy  wommp  [CoCNH3)sSOx4] UBSALBLD 9B CFTHMIS
SIS

Give one test to differentiate [Co(NH3)sCl s@ and [Co(NH;3)sS04]Cl
GuTal Dwek eflensmey SIS 6163 Yo 2 gemo 016

BSIL  BTe0HHME &TuuT  FsoBlk Gobus swvsfe Grlsz eabs Bugy
Ca1REaUULL FI.
E°.... =034V wimi E°,., .44V

c*IC,

Is it possible to store copp Iphate in an iron vessel for a long time?
Given E° .. = 034°F oy, =044V

SIS BTVSMS BNHD BB
period of zero order reaction.

What is common ion effect? Give a@ le

U828 aumad
Calculate the. halt"h

LT owel (Bmwenst Swel) Sismwlsu HHS.

ENEN =
Wrix er ion structure of alanine.
°

o) QUIHL &S 6T6TLIMEY  WTen6d?

What ar€ food preservatives?
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soL e A, - 0 o
Seovwstdaagh oo w33 dap, mlLmune
Answer any g i

) X questions, Question No. 33 is compulsory.
QVTUBES |
() amds (i) ST shent DD o dymso

‘ - : DB,

Define the following terms @
(1) Roasting  (ii) Calcination “ ,
Uayn Gy 558 1]

NILEU Cx1gizm Wsopshu vy Ay aEn)s.

Wnite a note on Fisher Tropsch synthesis 0

- s
(MH:OM] " 51 oL s (Se(H:0))" -Howpps dmida
(TiH:0)]™ -is coloured while [Sc(H:0)¢]™ is colourless. Explain 0

- UTRER S|MBUTLRS alemdg)s.

Explain Frenkel defect. ! O

CantiGapni s st Byt el 21HHG sIPTe0 616350 ]
What do you mean by Helmholtz electrical double layegl
Do CusiHos FNorsEEmHD Uy aSTUBDE

BT 61 6TIHDHD-
Explain the rate determining step with an example.

Fufsdmhz Hurfiumi?

How will you prepare 2-methyl hexan-2- ard reagent?

SB[ WDIS: SILTIL aIsDsT.
‘Write note on Etard reaction.
CNCl sigyd eminnpmrw &1 b (A) OuwpPs OGussldubd L@yTanoBL

wsoLbm Gnon C — (GHRY) ¥5 506503 C-atiusnds sloasg 2 LUGSDIL.
sisEsy Gmed A, B wbmuy

Ssosutha Grnob B = (CHN) 25 56308, B-43) fenamBas IBHWT® SB5S
3

5 aenLlhE eI LIS

An Organic compound | react with methyl magnesium Bromide tq give compou.nd
B — (C:HaN). B- Vic f&duction to give compound C — (C-H;N). C gives carbylamine
test. Identify com;;% and C and write the reactions.

.\ ugd IV | Part-IV 5%5=25
sw@&%&m L
Answert ing questions.
) SRS BBmamuD YHQSMUBHMMLLD eUiGs

(210503)1)
&) ikl£ﬁ LusEBsT Byssngsnst GBUIGS. ‘
il) By whDw ST 2 0SsT 1BHTEN onpBuorsfwtels efsnsn wnHl?
a) Compare lanthanoids and Actionoids.
(OR)
a) i) Mention any tWo uses of Zinc
ii) What is the reaction of Ammonia with Iron and copper salts?
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< @) 0[hh oiened  Gahomimelr  1ohmnb A RUIY o)
61631607
) QuatLred ugasngib sisisnm g fdsiuGADG!

(DI0605I) 3
W) 1) @i e ugtiy aenirad), Genglufumsd UL menirsd) CopuBHDIS
i) Op1g) efenanGeuas IHYSHDE G L_Hryeh Hob
a) 1) What arc inert and labile complexes?

i) How is potash Alum prepared?
o %,

a) i) Differentiate physisorption and chemisorption.
i) Give two examples for enzyme catalysis. .
36 @) ) Puw sLsmHps wppn Guoreon  SLHBIBDMN WD,  DITMEU  ET6uGuT)
OBTLTY Osrem@sisnsn? &
il) sreveutefls 0emLIEBaN60 o UILUUTeShSET UbIG jre?
(DI606051)
@) ) sweliugshisalsn LsiyssT Wiee?
i) eorul ouflsvsry Gamsienssmw uby Grily
a) 1) Define molar conductance and specific con
1i) What is the role of salt bridge in Galvanigcell?

e How they are related?

b) i) What are the characteristics of Ionic so
1i) Write note on Lewis concepts of Agifand Bases.
37. @) i) aszpamevens oifle eflenanGe .*-i waslmaulsy Brenp elemersd 2 LUl
FEGmeT S efleneorullsi
i) Weieumd eflenenullsd eflemen

(LPENMEMLI BTGNS,
i1 X obmib A-enl SewiLmls.

C Silen
SFILemL6d &Cenreny(® X ——>A
2 a KzCI‘zOv
ﬁ (Si80s0&))
o) 1) @l SrhIssiT piD  @&GemtysnT | YresmsEnsE GeLGwwimer  Geumun@as
wreneu? @ % ‘
11) GHSTES mum. @& wEhAST UTHISTUL  SETEIDWLLET  eTeleuny

(AL (I (N0 OB &Emgi?
a) 1) Write h\m;:c anism of acid catalysed dehydration of ethanol to give ethane.
v

ii) w e the product (X and A) for the following reaction?
CH;MgBr acidic |

A@hloride ——> X —>A
.\ H,O KzCl'zO','
AN (OR)

a) i) Whatis the difference between fibrous protein and globular protein?
i) Define the term therapeutic index. How is it related to the safety of the drug?
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l
|
!
l

com
: oD A Bofpmmn Cepyy sy
. HO\/\/\/()H

i : SOCh, 4 _Niy, p LiAlth, ¢

0

i) OB nen NAMT 610 196mL |

ity @A
gt Guytad) ofigh onfisb GHIT
O eRBemiymip Laiimts) a6h

o Haupn?

25C. (15050 51) . %
o) 1 S0 aimeloon (Gigmedsh Guaevni BLAHFNS WAL f‘]%

OGRS A *CH,COOH- LRl AL

) NaCl | HCI | CH,COONa &o
A

(S em” mol™) \ 126.5

426.2 91.0

i) &lws@afio  CHO (A) - Lmevsiied  1wpm S BT Ggé“j‘fg
. : 1
2 LuB@ms? Gsiobd (A) Guisemmsd wime H sienen Ufipdl GCFT

& soLLTE0
CHuO: - sedng, Gsiod (A) Guprdwgs Hiss NaOH @;"::A :
sleaifisg Gaion (C) — C3H0; —evay Apgl. aFfs CFT0 ’
wpgd C-oow e fbg elmensemsn

a) 1) Identity A,BandC
HO OH \Q '
\/\/\/ SOCIC’ _NHy, g LiAlHs, ¢

0 O
ith tri ic acid?
ii) What happens when gcejengoxime o1 oxidation with triflouroperoxy acetic acid?
(OR) 1
a) 1) Calculate A oC using appropriate molar conductance of the electrolytes

listed below at in ion at 25°c
[ |HCI | CHsCOONa |

126.5 \426.2 \ 91.0

ic’ Compound (A)-C2HsO reduces Tollen’s and fehling’s solution. A-react

Wi nnol and HCI to give compound (B) - C,4H;00;. A-on reaction with Methanal
resence of dilute NaOH to give compound (C) — C3H0,. Identify Compounds
N and C with necessary reactions.
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we@f eharngmneh V / Model question paper

@inshifleney Biresin_mb anewy / Higher Secondary Second Year
Bonsuiuses - Chemistry

{mgruseod bt pafup / Englich & Tamil Version)
Sreod sney : 15 P st +300 wad G 050G e Bt 1
Mavimum Marks ;o

Time Allowed : 15 minutes + 2,00 hrs

BWTYSYPSTYT J2T 1. swanamfay  Ghewn dasma P OTLLoT I!,{f'- i p_shengyr sem jRAnat

o Tty g

T 1% ,. i _-- SETIAT Wi 5A 3y ;
Czaefienayii, sud A gy el st @il sy n Gl LetymiA a8 T ;ﬁfr@fu i

p_Lemgumas Gfsldsanb.
sTHDUTEnsT oMLt

r

et 2E0s0 ) HHiIL

LS HS il

L)

oA BaTGHHHSHD Goaussi i, L ¥amsit

LG HSHaib.

Instructions - 1. Check the question paper for faimess of printing. If there qany
inform the Hall supervisor immediately. 0

iy : GHsHaUITEN BLhBHed uLD asnIhh FIsAUT(HE

Note : Draw diagrams and write equations wherever ngeessary
ugmgd — I /Part-—\

@ity : 1. oeneabHl el e dsmEydh@Eh alenLwisfdHs
2. CanphsiulL HIeE el sl i
@full Bl aleniuiemeiud Ca g

Note : 1. Answer all the questions
. Choose the most suitable answe @
option code and the corrcspo% answer

1. Gsipasiu L slmeuis [Y] m
(i) NaOH 2_m@ 350

18]

H,S04
CeHsOH ~— [X = [¥Y
110°c w iy H
ailem
OH oH
= OH
2l) l i)
Z &

H

In lhc glven e !‘b
& (i) NaOH fusion
CeHsOH x—' : — [Y]is

110°C Ma_]orProduct (i) H

OH

OH OH
S0O,H
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(ot g i)

ek of farrness,

2 Use Blue (or) Black ink to writc and underline uscge draw diagrams.
WAL i i A8 1pZHSTL.

ISx 1=}

UL alenLsniih BH1HEH BB

the given four altematives and write the

Kindly Send Me Your Study Materials To Us Email ID: de:&alwde\t@tbh@zi;mﬁnannerA


https://www.padasalai.net/
https://www.padasalai.net/

) \Fsdian b S!T‘imm.\ﬁﬁda&@'@i“%n AR

4 SBD : DNA apovdss

www.TrbTnpsc.com

Fahusd Dansming o ohan madsoanen?
MY o sy

M ) C\ IR | lﬁ\-l‘ ST
Y o " L
@‘ SLAVLTAY i l"'l-lll : H) LBV A

In which of the r“"ﬂ‘\\'inu ‘ .") Dl (S DI 50 e

a) Kolbe's reaction ‘ 'lﬂtlll)u{‘l: new catbon - carbon bond is not formed?
) o | "

¢) Aldol condensation olfKishner reduction

SSImD. Cahienysefs, 61k,
M,y Otbh B b7
b g (q Ly Q
ra ) :
o) v ) (( @) N ")
A NI, [)cn. Nt

Which one of the

. following compound is a strong base? 0
gklh Hy H, I &
() |
a) & b) ) d)

CH, NH, CH, Ko,

) nJsv st Demem,  Dugsnesin o_LgpIb &n@ﬁa‘n e
ST 2_Lgpib Bensmipgsiteng,. ¢

E’mj'ﬂlb 3 @f]’ﬁi]@ &m]- DIDS m G .n . .

Sitdng BmPsensDmLBu  p_sien AL TEgaN

3S)

d) Friedel craft reaction
9w sadsmip 10,

UL ST
B 0ppD seID  QreEGn  sf  Guad SO Fniidimysr  sflwmsn
IR0 AT

) DD 0bpd YD BrenEd  of, sy spipeter  afwms
alleN& BL05060.

B) =pp &l euemed sryembd Houy,

7)) aDD whgd smeIh GBIsIGh Seg.

Assertion : Thymine pairs with Adenine wheare ne pairs with Guanine in DNA
molecule.

Reason : The hydrogen bonding between bases @tmnds is highly specific.
is the ¢

a) Both assertion and reason are true and reason orrect explanation of assertion.

b) Both assertion and reason are true but ™afon Mot the correct explanation of assertion.

c) Assertion is true and reason is false.
d) Both assertion and reason are fal®

dsaumeaustsubmist abs s i

L

1) PGA al) SDHEVI @) PVC #) HDPE
Which one of the following iwydegradable polymer?

a) PGA 1o c) PVC d) HDPE

200K-s0 @ elemen Gous wrmledulen wAluNeNE, 400 K-sb o_siten slsnauGaus
wrfefulelr & Uau 0 wLRG Gome, aMd HS slmamuls Aanitay  ayhmsd
wHiy ereien? (RN Lomiled)

3) 1842.4R ) 921.2R @) 460.6R §) 2773R

The rate constant of a reaction at temperature 200K is 10 times less than the rate constant at
400K. What is the activation energy of the reaction? (R=gas constant)

a) 1842.4R b) 921.2R ¢) 460.6R
Ueisumeusnaupmisit Je0SEEmIFMISE Flwneng sigh?
o) [H;07>[OH] a) [H;0']1<[OH] @) [H:0=[OH] ) [H,0']<[OH)

d) 277.3R
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Which of the following is true for acidic solutions? n-r0ir] O (H,0'] = [OH]
QO [HO']>[01] W [1o')<(on] o (1,0'] = [
8 Bupsnauisd enenb gaownas BaUupid any b
O aabiodmmesmeis Bsapsand, @il
) G emefish afsnsma)
@) weaiiLnsd elsnana)
F) uTeod Al e

The blue colour of the sky in nature is dueto @
a) Electrophoresis of sol particles
b) Brownian movement Q
¢) Tyndall effect o
d) Deemulsification &

9. o Geuram @emulsien GDUTH sremlUBD LB ¢ 260
&) NaCl <) KCl ) Zn0 Y

The crystal with a metal deficiency defect is d) FeO

&) GouseurehCs LOGTSHE0ET

a) NaCl b) KCI c@
10. Usieumaisisupusit ag gimsa sisso

®) utsyF ulLer WGSBS

®) (o) wibph (@) @y &f. Q

Which of the following is Secon
a) Laclanche cell b) Lithium ion battery

¢) Mercury button cell O d) both (a) and (c) 2
3 j ; A1 61T 6 Fe & Co) +2 &880

1. prang 655655 B gatwmssfsr (Cr, Mn, 2 s
Bsmsoulsll Henseliys HeenD sng [oass: Cr(24), Mn (25), Fe(26) wpmio Co (27)]

o) Fe>Mn>Co>C 1) Co>Mn>Fe>Cr

&) Cr>Mn>Co>Fe #) Mn>Fe>Cr>Co
For the four su sition elements (Cr,Mn, Fe & Co) the stability of +2 oxidation st
i)

&cgs
will be there 1 N e foliowing order? |
a) Fe>Mn Cr b) Co>Mn>Fe>Cr  ¢) Cr>Mn>Co>Fe  d) Mn>Fe>Cr>(

12. ds&rm@sﬁﬂgﬂm a3 UTIT &TheH Saisnn GuBmisangi?

2) ﬁ@ A =) [CONHy)™ @ [Ni(H:0)]"  m) [Ni (CN)LJ"
) e following paramagnetic in nature?

Hs)s]* b) [CO(NHa)e)** ¢ [Ni(H:0)]""  d) [Ni(CN)J"

i HiBO; upfw sboissisd Suptang 617

S) @5 o admw UG WeEEMHHE ibsld

o) B3 Cumraalsh Bisamysensy ifeoiuBsd swiflssiuGEnsl

B) B35 BO; amwagass svanljgsi Usvenilsimsd Usnemssiul( SiBHEH
SinUsHud CsTssBeiengl.

F) B& yGlLmenst aLRGASDE UHeTE apljrdsnilsy swellsnw gnme 6F13
gl sufsuotes GFwstLBEDE.

&) 95FHwd - sweal Tl (KT 2 IS

‘Il.'l
¥ 1 & v '

148

Kindly Send Me Your Study Materials To Us Email ID: pSdaahkéeden@inGaradeanner


https://www.padasalai.net/
https://www.padasalai.net/

14

1.

16.
| 17

18.

19.

21.

2.

Which orthg‘/l"gwdpadasalai.Net www.TrbTnpsc.com

WIng statement about HyBO, is not correct?
basic acig

b) Itis prepareg by acidifying an g

¢) Itis a layer Stnucture in which
d) It does not act a5 proton dono

d@ﬁw@msmcmjmsh Cxyaty aup

a)Itisa strong try

qucous solution of borax.

planer BOy units are joined by hydrogen bonds.
rbut acts as a Lewis acid by accepting hydroxyl ion.

o D w137

ei)‘ 1 5;04 ) H; S0, @) HiSO« =) H,S0;

Which of the following is carg's acid? @
a) H; S04

- . b) H, S, 0, ¢) H;SOs d) H,;SO;, Q
BUDUTEG BN GBS GD slensTutsngy sips (psp?
Ti i i 1 i
)(@nuL;mmt{J:Dmi:!) w2, 350K, Til, 1800K, Ti (zmu)+ 21:&
) Yo . 6;56\). Q) wsILe aHFHafiy
@) saurehr - QBN (P ) T8 (1psny 0
Which method of purification represented by the equation? O
Ti (impure) + 21, 5505’ Til, 18005’ Ti (Pure) + 21,
a) Cupellation

b) Zone refinin
¢) Van — Arkel method

o
d) Mond’s proc\Ef.

ugd — II/E
IeseIb Qm lemssemse aloLwaiss, srssir 24 &5 sLL_MUDTS

alsoL wisfidsab.
Answer any six questions. Question N ompulsory.
BIQTWF FUPon aamis asts?

What is water gas equilibrium?

9Cstaw (03) om aslsnwownsn ousAy QBUID STTSTWTGD 6ei?
Ozone (O3) act as a powerfulafidizine agent why?

Udaph aloassen g ®.

1) 2MnO; + 4KOH+O#

i) Cr: 07" + 4H' \»
Complete the followin®ggactions.

°
i) 2MnO; +4KO®O;, —»
o

ii) Cr; 07" T

Bist o LBW  sUHTWNI

Det'm.L muct of water.

VL U My QWERls YEME BMIFH  aurs CagusanbCurs)

asisy Hab? Cad woapulst Cuuios gRilEs.

What happens when hydrogen sulphide gas is passed through a solution of arsenic oxide?
Name the chemical method.

wausaist Qustdpsssd uBl @iy auenys.
Write a note on denaturation of proteins.
GLfsSslr ssusuTy swiiidstuGdng?

How is terylene prepared?

6x2=12
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L
-—

Wshionmib Bamommenda 1UPAC QUi msnat S1IRDID:
(1) CeHg-O-C,-CH-CHy (if) CHy =CH-CH2-
“H
(111) PG @usﬁrml_jﬁ'\i somantsy (iv) daflaynso
Write the TUPAC name of the following compounds.
(1) Cells-0-CH,-CH-CHy (ii) CH1y =CH-CHx-
Ha
(ii1) Neopentyl alcohol

_ . G FIOTEKDN
M/36 Gopfaymiw auadentn @DUHD SOBMIHHI &lgmmémgﬁﬁ GuhE
wHY 6 Gor Ga.af gFwrend ! opmnb  sismailsosoT BIHEDNSS

b, B sufebBie s wifsl wHumu sTEEOD: -, Qo cm? equi
The equivalent conductance of M/36 solutiop of a Weak mon.obasllc &smnt e a(i?:f
and at infinite dilution is 400mho cm? equiv’ _Calculate the dissocia

ug@d — 11/ Part—1II

g8sb Qu AlSMEHEHHS e welss. el 66 33 :_|_rru.|wrra':

sl oL wefissa|b. :
Answer any six questions. Question No. 33 is compulsory.

CuGil. owsfienw sl6uaTDI sewLfleumul? SIFs0 ;&ﬁwmﬁmm E1(0BIB.
How will you identify borate radical? Write the reac volved. . '
QaLfmeng Sk HDID SuBHsT el enaL, B BETTS QFwsoLB&Esiy

ge&i?
Why do transition elements and its compogs catalyst?
O.1M HF senjaed susfieno &B Sud & SM, HF sengaed auedenn 0@ Sifla

g6’
0.1M Solution of HF is weak acid. B@solution of HF is stronger acid. Why?
Leou susnIhBl, SISIEUGSEL 1960 STERILIL

WpELYMDW  BFHITD (FCC)_ o1
SigsEMeT CeRIBMS ®-
1 CC) and calculate the number of atoms present in it.

Sketch Face Centred cubic
o _WTSHHS6 DBEHID ]

What are promoters 3nd jc poison?
A —» B aem Ongafer elosscd A-s1 Osfaseh CHHIDEGWL S Guur

qusoyULD  SCIp ﬁ\w&?ii;&. UL BeTeTEl.  QUSIULESMS  SlgLLELLITES Qmres®  Lisisyg

CH,OH

CH,OH

(iv) Glycerol

6X3=—.1

D BES EISIDTE0 eT63TEnN 7

e & BEHH .
[A] T aniflsh ellenaneusn®E ETGHIEN?
B LuenGETLIgsT Fmiley 6laie?

) eflenanBous Lomileduller SIS 61601601 ?

For the gene.al reaction A— B. Plot of concentration of A Vs time is given in the go
below. Answer the following questions on the basis of this graph.

[A] T (i) What is the order of the reaction?
\ (i) What is the slope of the curve?
(iii) What is the unit of rate constant?
t—
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32.

33

34,

35.

36.

TS TV SRS SIS IV Y R NS A RSy

~ CH3NO, www.Padasalai.Net www.TrbTnpsc.com

O g4

. Ja j |
COpILBdHminimg) WS Byemg WIifubimstt  n_sisner.  @ehsiyamepLugh ST
There '

! are two 1S0mers wil, the formul
SIHHETEO  wogiyyip Uemmnsiyy

hemen (3
What are tlye tests to diffe o

4 CH3NO, How will you distinguish between them?
UBHS onfuib Gragmenmatt witens?

rentiate ethano|

@A) s sifiod nd phenols?

sﬂmmﬂu@{b@nb@m@ (g(gahmlb (CallsBry  gp »_sui

e rpflsd  posten Mg 7‘4_—"‘;"
20BN Gty (©) i g s e e o o g

sllsmasee o1y, Doy asfiso (A), (B) whmd (C) mb s Hbs

treatment witl, C[();)m}gllcﬂ“sBr (A) on treatment with Mg in dry cth TR
il cquations.z owed by acidification gives (C). Identify (A), () und Wit

i R ugH IV / Part-1V & <o
SpEENTEmID sl emes mﬂm?immﬂ&mutg:r \
Answer the following questions. 0
a) i) ;rrpuh GU)USD.Uf_lglsﬁ@rj;@] &S1uuey LN 5H0%HGH@!E ‘“ sl

1) levsueny  Wlsiemm LI ggs (pemmpulsy @nmm% efloufl.

(@16060))

b) 1) a;t'b.'.mtsunsb&,m STEIMTEY er6iien? o_gmuy QBN(.
1) deiieuph Gsmommeiss sisioeiens Gzl L OUmIA DT
ol) BrFs Q) 1F, '

a) 1) Explain extraction of copper from cop@nlcs.
ii) Explain electrolytic refining of sily

a) i) What are amphiboles? Give ¢
ii) What type of hybridization ocOus j
a) BrFs b) IF, %
&

a) i) Cr' euedeniownen

the following compounds

&

& O_6HenGLIrg Mn** euadsmiowimen b Gemmlwrs

GGG WIG? DB (WEAWSHHIVEMS 6119HIS.
b)i) 9®m L ¥ SIEEITPGTED  aueJWml.  (PGHeosusn®  ellsnarulsd  DisHysuTp
SITEOLDT ) el Gurmeder  @vEms  Qapfleneul QUIGHH  DIWaFH N

ﬂmum&@m_@as.

ii) 2% BUGSHBL LD B Sifleusr eeden?

a) i) Beplaivwhy Cr** is strongly reducing while Mn® is strongly oxidizing?
i s stability constant? Mention its significance.

‘\ (OR)

b) i) Define half life period of reaction, Show that for a first order reaction half life period is
independent of initial concentration.

ii) What do you mean by salt hydrolysis?
a) i) S enaplygs Wsiipmen (SHE) umn @My susnye.

i) BeL@eE  BLEBISSHDE amsﬂ@g;sﬂab DC uWeaGanlLsdng udsore AC
HeiGaiLlb LWeUBSSILGS DS gen?
(16060
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b) i) WBsigpsoend merad uipd @iy OIENID.
i) QUIHapHpsh aspTs si6en?
a) i) Write a note on standard hydrogen clectrode (SHE)? AP
ii) Why is AC current used instead of DC in measuring the electrolytic co ¢
(OR)
a) i) Write a note on clectrophoresis.
ii) What is packing efficiency? y :
3. a) i) yrpnmaisr oo, BIFILIDHm wHmid apspDamey  SIILY
6T & 5.
ii) Usiteumd OTHHD E16UT(DI DapheiuGOns!? @

4- geueL. Q
(1606051 £ N UL igsi  aulflpeny

amdab -4 —> Opmis

b) i) @amuymen HDID gL Qggemi_ Basie 2IHG
eleNHGS.
i) Weteumid LOTHDBISHET 616Dl HepHHIIGADH!
(X) GQusndet —» oG, I@emeir
(Y) Gusngnsopamn® —» AL Gy Gﬁus&rersmﬂ
a) i) Explain primary, secondary and tertiary structurc
ii) How is the following conversion affected?
hex — 4 — enitrile—»hex — 4 — enal

(O
a) i) Explain the mechanism of clc%@ of soaps and detergents.
ii) How are the following conver, jondgffccted?
(X) Benzene— acetop C) n
(Y) Benzaldehyde —» benzamide.
38.2) i) HCN-sn Ka wgiy Yo eslsd 0.4M HCN wenyadsi pH 1wgi) sreire?
\b (2160605

b) i) DBynCGwLipd et %. Qoo (A) Sn/HCl 216 @BH@I0mLHSI Galnotd
Goinop  (B)  Qusiremulled @Gareng@Ler U

C¢HsN & Mﬂ B0DA!: ;
@m@ﬂmmwmwﬂu@g}m Goiwd (C) mb Owi@hbdmg. Boinobd (B) ay
CH;Br ®_Léi1 wienaniBhs Guinop (D) gg-ud, DiBHEmeIsH GBTLIHHI NaNOy/t
D L6t BILUBES  WEhTsT  [BpEpeLL greiiQeoniis  Guedy e
mb Qen®sdpp ol (A) appo  (E) euemy 2_giten  Goiromise
y Y, alenamamemst  61(19HI%5.

N, . alue of HCN is 10”. What is the pH of 0.4M HCN solution?

(OR)

b) An aromatic nitro compound (A) on reduction with Sn/HCI gives compound (B) Cell
which on treatment with Benzoyl chloride in the presence of pyridine to give compound(
Compound (B) on treatment with CH;Br to give compound (D) which further reacts ¥
NaNQ;/HCI to give compound (E) with yellow oil liquid. Identify (A) to (E) and write’
reactions.

proteins.

a) i)e]
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b ST 1S BB bimst +3.00 emf
(ime Allowed :

y};a@;&m O

[nstructions : 1.

www.Padasalai.Net

Cosoen

www.TrbTnpsc.com
wrdfl eNewngmret VI/ Model question paper VI
0 @resi mb Q@ / Higher Secondary Second Year
Cauglufwsy - Chemistry
(Quisod wigud By / English & Tamil Version)
Gungp wHUGUaES : 70
Maximum Marks : 70

! (o] [ . § . . P 2
SHOTHH elemdmenh  afuns ufeind) o_sitsnpr  arsUpamen  FLTEED
Casiianay.

1S minutes + 3.00 hrs

EHOUNNS  @epieids  oeph  SEIBTE -
2-Lemwiag;, Gmfleldmeb.
2. Boob (Di5bevg) SOHUL snulenen LGOI 61UPHIIHDEHLD aum BHHID
LwsTUGSS CaussiBid. ULkimsit eusmgeumie, Gusifs LwgiuG

Check the question paper for fairness of printing. If there js anyWack of faimess,
inform the Hall supervisor immediately.

2. Use Blue (or) Black ink to write and underline use pe raw diagrams.
&BUY : Cxsmauusn BLHHH uLib UMYHG! T D6ILTHHENS &
Note : Draw diagrams and write equations whercver necessary
ugH — 1/ Part-1 I5x1=15
@BUY : 1. omsnhg elsmdmenbhon m'ﬂam.umﬂ&m@
2. Oan@ésoulL mee el DmeUn 6L aMenLENUIG
CaHbOmBHE mMul GLe siamLu Gerirgsu 1B,
Note : 1. Answer all the questions % '

2. Choosc the most suitable exnsw®1 the given four alternatives and write the

option code and the corrcsr%g answer

U sisummaneneuimisii 6151 SOt saim’!
21) La(OH)s aygmgy Lu(OH),

24 sonHEaImE wmwuuﬂe.b

SIEMEND @ onmmInet  WIgEHLAIMID 26D LI

Jiflmofed s gl empaino.
@) La ayggl evnhmennul
s1eaIL@y ol

#)  eumhmemii @,ﬁ;}';{gbg e eilemstiouns Zr wppnd HE @am ol o 0000 Temen')

Qupmisieney, :
Which one oflwng is not correet?

a) La(OH )ays & sic than Lu (OH)3 \
b) In Lan‘ll* series fonic radius of Ln®" ion decreases
¢) La is actually an element of transition metal series rather than lanthanoid series.

d) Atomic radii of Zr and Hf are same because of lanthanoid contraction,

. Oetsugntp  omemays  Golomisefsh  ebn  @eim - LRedw  LgaUL  RensotiLyhmsiimiosmiL
(CFSE) an_@dmm?

o0) [Mn(H;0):]** ay) [Fe(t,0))" @) [Co(H,0)6)*

L0 _siton  mefiold  erehuemg el Glenlemey  meflowh

#) [Co(H,0))*
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WWW, Tranpsc 'gom stabilizition o

x <tal
Among the following complexes, which one shows Zero Cry

(CFSE) is
a) [Mn(H,0):]** by [Fe(t:0)k]"  © [Co(t:0X]
3. P®my omylamaa Brin SsnfsTad T WS e e
0 FUQBHBWD ) STHDSUTF ST Sy

O) ANHHN Q) 2 GEHIN ) suad ™

ls JdiiC

1ina
The process of converting hydrated aluminia into anhydrous alun
b) Smelting d) Calcination

A BILSEDI- Sasrt  ysnéyT GuTid sadsy,

R R SRR~

www.Padasalai.Net

* gy [Co(H:0x]™

Tasal)

a) Roasting ¢) Auto-reduction
BF: ¢ ®miusss Guiis ouf

4,
TBBOUBEnE.  ysnGyr Guils SfivsHw o s /.
o) H',F & BF; ) H &BR] & [HBFR] & F \Q - &F
On hydrolysis BF; gives Boric acid and converted to fluroboric ¢ qci@ uoroboric 4
contains the species. . =
a) H', F & BF; b) H &[BF{J o [HBR]'&F & & H BT &F
5. Usiauph swfaissisd abd TSI 0-0 Sovawin] = sdS
20 HSO;3 20 HiS:06 @H :@-ﬂ H:S40¢
The acid having 0-O bond in its structure
a) H,SO; b) H.S:0s H,S,0s d) H:S:0s
6. GpmEBl GuUTEHS Comemmissler  eTsienlS \ gty PISWPE SIDNE
sisHeNBmasEg FULTE BSHUUI. b
o) n . =) 2n ) 20’ §) 3n
The number of close packed spheres is %umbcr of tetrahedral voids generated is &
to
a) n b) 2n 0 c) 2o’ d) 3n
7. 2A+2B —» C+2D eiep m&’snar a)sur@ajés a8 asi? B-s Gapfena WLIDDTLR
& Gsfe BING WLEG sanbGurgl, efeuist Causwrardl BTG LRSS
Bt Ganley @reNip LLMRSTS o wrHmh &

Gugith A-st Gsplensy T

asnenuisr Gsusld @@wL
&) Gausb =k[A][B]

o)) Gz = k[A]

@) Gausd = k[A] ~ ® Gasd =k[A][B]

What is the rate la\ the reaction 2A+2B—> C+2D If the concentration of A is double
the reaction increases by factor 4. If the concentration of B is doul

constant [B] t
te is doubled.

at constant [
a) Ratee= b) Rate =k[A][B]

c) Rate \q [B] d) Rate=k[A]J*[B]
8. W/O ursowdens O/W umsdowrs omhpid C&wsd (penpuTeigl

o) FHfbHGUTSHED &) UTeTESs @) FendauemnL &0
The change of W/O emulsion in to O/W emulsion is Called
b) Emulsification ~ c) Decomposition  d) Inversion of phase

#) Hensvsnip G

a) Coagulation

154

Kindly Send Me Your Study Materials To Us Email ID: deaamde\t@Wmﬁnanner‘


https://www.padasalai.net/
https://www.padasalai.net/

0,

10.

11.

12.
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afGuT@swRwRAdASRIR! L I
o) aflCurgsit / Bsigpsmey | Wsiugst / Bstapsnsn | awsfggBeno
o) USARBaing / Bshupensn / Besiuima / Wsipsnan /| siflGuTmsHt
@ aflCuimsi / Beapsnen / Bsiugal / lshapsmen | §@HH

%) ubARBei / Weipensn | e / Bsismen | gBoHA
The general representation of a fuel cell is

www. TrbTnpsc.com
@I Gz g

a) Fuel / Electrode / Electrolyte / Electrode / Oxidant

b) Oxidant / Electrode / Electrolyte / Electrode / Fuel @

¢) Fuel / Electrode / Electrolyte / Electrode / Reductant Q

d) Oxidant / Electrode / Electrolyte / Electrode / Reductant 0

Gmound  SALGLL, ouBorelub  @BmreyE, Gsmouwid &_ B EHmy Fe0BsT
(permGul

9l BEBme, suflsob, sy &) sufeod, &y, g,@ﬂmm@.u
@) s, Hifob, HEHme

F) &, Siflevd, STFID O
The aqueous solution sodium acetate, amomonium chlmAxlium nitrate are respectively
a) Neutral, acidic, basic b) acidic, basic,geutral
c) basic, acidic, neutral

d) basic, acidic, ba
Ueeumeusnaubmist abs el rHHm) CsTGHE

o) C;HsONa+ C; Hs Br ——» 0
SLITH,S0,
=) CH;CH,OH 413K \Q

HBF,4 ( ,
@) CH;CH,OH+CH,N; ~A
F) GUBEIL SimNSHHID.

Which of the following reactia withgive ether?
a) CszONa +C, Hs Br
COﬁ 2

b) CH, CH, OH
F4
@ —_—

¢) CH; CH, OH Wz N2 A

d) All of théxdbo
Seeumib ehbe Hrmpuely eloauls elmeyfub sdewuls @pug ol
GPUIBBY

N

(1) C¢HsCOCI ?) OZNQCOCI

3) CH;-Q cocl @) OHC—@— cocl

o) 2>4>1>3 &) 2>4>1>1

@) 1>2>3>4 g 4>3>2>1
155
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ot of I'E n-xrl'?f’?ﬁmfﬂrolyw‘ie reaction

Arrange the following compounds in decreasing order of r

(1) C,HLCOC)
(3)CHy— M- coc
a) 2>4>1>3
) 12234

1 J. ‘{)1
M A
~N e T
N=N-Cl

o) HaPOyioigp H,0 o) HY/H,0

&) ”gSOJ”zSO.q

NIty

N=N-CI
a) HiPO; and H,0

14, wenAdComrad HCN  elmanGurasit BImbus
o) Gopiemils owfed o) 2-0i6w

l% ct HIA A, the compound ‘A’ is
b) 2-iodgxJ

@) CamiC e

Glucose HCN Product

a) Heptanoic acid

15, ol : @y Goninler ml%

@A (GADL).

[
| . - .
;”' Ql!r A s ;O
) Hg

-/ \_coCl
(2)ON-{ )

(4) OHC -<} cocl

by 2>4>1>1
d)y 4>3>2>1

Ny
A e A’ ssTug

#) CuyCly

O

b) ”VH;O (& /H»SOs d) Cu, Cly
50 6lenaMGLTHST HIAi Gzmolb A atsiy

CamsBasi

¢) Heptane d) Heptanol

imet Guwnds Gereguustsy (TFM wgdiy) siglusmi.

AUGHIBLD,

wnygemb:  BIS gy %ﬁfﬂﬁ;gﬂs&lum apmped &y BFTOYBST Gmmpd ulsFb 60% T

Wity Qunaiig
o) dnlfyl tn;j;mu'

mﬂmd./mm(@\

a) dnfim i)

GNGHE 060G

onp  EyeniiLd

SNJID

gfl  Guaub &1yewID, SmpmssTeN  FfL

afl  ouemsd  SIJeNID, SDLSSETEN  FiL

@y eI (BLD

ENED @y Heuml

b

@) sl
#) (In%}ﬂ)llh angennb EyeniG  Heuml
; The quality of soap is described in terms of total fatty matter (TFM value)

'l% 1 : As per BIS Standards, Grade-1 soaps should have 60% minimum TFM value.

a) Both assertion and reason are true and reason is correct explanation of assertion
b) Both assertion and reason are true but reason is not the correct explanation of assertion

¢) Assertion is true but reason is false.
d) Both assertion and reason are false,
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U@ = 11/ Part =11 6r2=12
TeHID N
' ' @dg slenLweds, , ’
el wiedaepb, . el el 24 Ao mCLmunons

Answer any six questions. Question No.

s . 24 Is compulsory.,
0 9Gsmb s, g B

o hon Guer @daamiemm Pomps
O is a reducing agent, J ustify with an example,

BoLPeneg meflonimsh OPG _m@Remeomus Gmre@sianst. s’

Transition metals show high melting points why? @
BIEIWd Lsoghash d-aumnic Led upaLel ey uLh eusnys Q

In tetrahedral field, draw the figure to show spilitting of d-orbitals. 0

BB HLLed gy SIEITMTEY  16i16m?

What is flocculation value? &

oMpedeimba 2 Bonammmen ugsss abipme un@mm@w o_po e’
How cathodic protection helps to protect the metal from ¢

0IT0§i0
Usopdh SBUUNEISST eleiug) wrgl? o _siyemid Osn(. *
What are Antiseptics? Give an example
Gum_ywi - Guulsad wsp LD SIDEHID \
Write a note on Sabatier — mailhe method?

Jutmfs oufleod Ambe GBHED &ngmﬂmn&@sbu(ﬁaﬂm@ g6i1? 9BEBEGD UsIImUS
SILEL g6 elmamu a(pss

Why formic acid act as strong reducin@mve one equation to show its reducing
property.

a0 ams slmauls  elommC mmiedulsr @iy 1.54%X107 S aafled  aips
SIMJEUTPSTEOD HeBUIGHES.

The rate constant for a first 0@011 is 1.54%10™ S~ Calculate its half life time.

. um@ — I/ Part - 111 6x3=18
gepaIb Qm elambs werlébe.  eflam e 33 &@ SLLMLULTS

el wefssa)b. Q
Answer any sixequestiofis. Question No. 33 is compulsory.

eGSO o eiuy suenys
Write short ndtes on'Zone refining process.

Srien 2@96&‘)%6}1& GsmosAelmha asaanm Capufdng:?
How x t differs from co-ordination compounds?
T, Mn" ®welseaisd o sien sellss aabljrassisn amealsmemu sam@ly wHED

sapfe 81655 HEULSEDS LALDULD SmEHES.

Calculate the number of unpaired electrons in Ti**, Mn** and calculate the spin only Magnetic
moment.

Sifesmss smysals CFumUMmL aldbgas
Explain buffer action of acidic buffer
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2. umedu eena ofenen sismied stsiren] LLgGEAL AIFHD enandd @D
What is Zero order reaction? Derive ratc law for a Zero order reaction.
0 Ugs ieidGanea WHHID  HINGHIG eI
Define the terms crystal lattice and unit cell e
30 Lnggrbadyginlamen g Gorsd  HI 2 Lo ApaUBHBEOUTE  2_an,

Yo allemenQurmseds seHLs.
The major product formed when 1-cthoxy prop-lene is heated wit
ii) 1-Uenemsd eipmeanmensy onfeod seopm KMnOs o L6N eflepsmiiL
What happens when 1-phenyl ethanol is treated with acidified KMn04"®
32. QasogiBsonerd HEID HiEGYTESET EUQAIEMIDLILISENET EUEDI&H. Q
Draw the structures of cellulose and Sucrose.
33, Ueeup elenensufisnauieo o siism A, B wpgpd C a&aﬂ& e &emIL B

h one equivalent of HI

GH5 gremen BB pID,

HgO H,0 NaNOszCI

CH;CH,NC > A » B

Identify Compounds A, B and C in the following &Q of reaction.
HgO H,O0 NaNOle

CH3;CH;NC > A

ug® -1V / Pa 5%5=25
BPSETEID NMTEHEHHES MeDLUIE @
Answer the following questio

34. a) 1) [Fe (en); Cl;] Cl, stehim & BETOEIBEHdE

1) Fe-er syodeGeg
2) @sndbas0UL wg‘a@xmwﬂu

3) eppHH H6

5) geflapn
6) IUPA
QB weu

(i) Sl ammet Cr0, suengl Cr us steuouty @OSsUUGEBE?

(E VM)
b) ig GoiiomimensT RHHDON  RHE SuDHeT @eNEBEL, LHDID i

Awamemm 61(SHIS.
.\ For the complex [Fe (en); Cl;] Cl;, identify

1)Oxidation number of Fe

2) Hybridisation and shape

3) Magnetic behavior

4) Number of geometric isomers

5) Whether there may be optical isomer also?
6) IUPAC name.
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rzcﬁ 18 reduced to Cy by Al powder?

List any f (OR)
stany fiv R

e - V& Compounds of xenon and mention the type of hybridization and Structure
0f the compounds ’ .

i) Pe1hp wn

a) 1)

}':T ' _:': - M . . . - Ty
STTINETS whiyens vusassh Gyes P0G,
DDUSEST gstprsh esisn? 9% D_Fryompgs su simEEm.
(2sia03))

Hnsh HTEE0UGD apsag (pspEeana -;55*1%3,5@

b) 1) Ufsns Wsopdst apsop FalfLr

1) &l&u&h’ﬁi}t umm L

) - Wi ZADAET &IB?),
a '1) ’me any two medicinal uses of co-ordination compounds Q
1) What are hydrate isomers? Explain with an example. 0

& (OR) &
2) 1) Write any three condensation methods of preparation of colloids 0

1) Mention the medicinal uses of colloids.

2) aslsne Ug sufan whph ewsdsnw @mmp 10 2

i TR 2 BITpUBEE
wipsd wipd pH gfwapeop aupsi. i
(2#505034) \

b) 1) wsEA 2 ganzs upd GHlY a5
) sBl@m zysiCamzaisn uLsAEM A1pEE.

2) Derive expression for hydrolysis constant and pH of S acid and strong base.
(OR)
a) 1) Write a note on formation of « -helix. Q
if) Write the uses of nitroalkanes.
a) 1) eomgarassit  wimb  apeodsm 6l #  splussuish  UsuRSsT SIS
e EOUEEFOIUEDH0E? Gabansafn Fjand CE1BEBED.

( 2l)

dafiensoulso aBFamTauLsa  silsnsaLf ECuTH
DI 6l MEFD.
L asoLfen Guwsny EnDib.

b) i) afzemds subsob 2zl
greaan HELODE? 2 b
i) sasumpaamanfyieo ey

(1) enrempliuy 1wl g F4I0Ug 1eTALD
(2) 2yebAng 1w (4) aumgEmlUp WD

a) How polymers are clasw on the basis of structure and molecular forces, give examples

of each one. Q
(OR)

a) i) What h cgbcn cthanoic acid reacts with ethanol in the presence of con H,SO;.
@

Give it cte mechanism.

iiy Name the ester which has the following flavour?
(1) Banana (3) Pincapple
(2) Orange (4) Apricot

. a) gm s FCC apmulnid ugmeidpg. Cognb dpsH HILThE IOng" i s

s igeh efiafib gemb  100pm. 1g  UpBEAHH s Digis Heisit
bt sam-.
)]
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b) C:HO (A) Ssip afied Qsnee oot HySOs 215 = GoLIRS &Juzsqsunu"
Canlrstus CH, (B) g Cewdadns EITF U o Buidrusa,
SoNuEss Gswe C;H0: (O C=1335ns -t i;rmb (C) =7 H,sg
Crelu L rsafsd P son a5% GurzsTTaU uLSTUZS DI i GeTBRSDa &:&
VIR apdZulury eserpd GETUETSE (CHsO £ t?r'uu: C:HnO (E) |
Goncd (A) @ ooy HiSO, pust 43K Gamniudss BT ST | =
G‘STM.B@ g (A) @‘:5&\ (E\ S o & CrTUSEsT =S

a) An w-;m 1 tcell eg

02 W

) atom crystallizes in FCC crystal Iam.:-e and has a density of 1 u@ "
resentin Igot Ferystal.

length of 100pm. Calculate the number of atoms pRS
(OR)

b) An organic compound C:HsO (A) heatad with Con H:SOs at

b3 pound CHo
hydrocarbon C; Hy (B). which on treatment with Baver’ m«m&) distilled with o

(C) which is used as antifreeze in automobile radiator. Compe od with Con H2SO
H:SO; to give cyelic compound CiHsO: (D)- Compound (4) § d write equauon&‘ )
413K to give compound CsH ;O (E). Identify Compounds (O -

X
N
\.Q;Q

A
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| CHEMISTRY ( MODEL quEsTION - 1)

/’@'M —-;__l_; SH6 78 ofw|ufiz|3|14fl5
| :\E\t&@ﬂ?iﬁ@ A ED_ i jgf, Alala|la|w|@|g|a0|D]| "
V;\_‘\‘:“'ER MU b e BB B|alalp|c|B|alc]|C

CHEMISTRY ( MODEL QUESTION - 11
Qe GTeRT

Qn. No. Li213)a|s|6|7]8]9]10la1 137714 | 15
ﬂmLé@@ﬁGaaa%W%@a@%ﬁ%%éy@

ANSWER KEY AlA|A|B|D|B

Cardlufwed ( Lomff Nernggmer-11) ,@
E S

ClA]|C D|{B|B|A]|C

®,
Ceaudlufiwed ( omfl a&)aﬂn’é}nm- 1)

ION -1II)
eflewi 61N
o No o |10 11|12 13|14 15
AL 5&H06 Qla|lo|z|F|8|
ANSWER KEY clBla|B|D|C|B
G&M&um (om &) e gmer- 1V )
4 @TISTRY ( MODEL QUESTION - IV )
| 6‘9357"6:’5&7%23456789101112131415
E Qn. No.
| derseilSE ||| |@|F || 8|8 | F|F|B
aswerker | BlBlalclplBlclalalc|p|B|D|D]|C
- Y
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Cadwed (wrdf eSS
CHEMISTRF ( MODEL QUESTION =V) _
SorT erei T ﬂ 12 (13| 14 |
Q= Na 1|12|3]4]|35]|6]" A —L
S is553 |8 | =8| == | = |=| 2|27 12]7]|2]2
ANSWER KEY CBC%.%DHCDBDC%CL

eir- VI) §

GaPBwe (ord)f efeanSST
CHEMISTRY ( MODEL QUEST. TON -V,
'am":m-ﬂ 1 3| 4 6 8|9 13|14 15

38
-1

by
~ |
S|
o

12

- = = -~

H | HA|H | 5
C

ANSWER KEY A|lB|D

L

%

NS
XS
N
N
O

N

J L] . -
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